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I Ugfaar :  YANHS
ferareaas 9mer  (Methods of

Research : Experimental)



Assertion A : In experimental research, the
effect of independent variable is examined on
the dependent variable.

ITRAT (A): WrAIfires 9ier W @ds =1 &
YT ohi T O o U ahi ST 8
Reason R: Causal relation between two

variables can be established only by the
experimental method.

T (R): T o/ o dfter shur daier granfives
YUt gRT FITfud feham =T |ehar #1

In light of the above statements, choose the
correct answer from the options given below

IS FAAT & Teler, § e faa faemear o
ﬁnﬁwmma&m.

(a) A is false but R is true
(A) 39 2, W (R) T 21

(b) A 1strue but R 1s false
(A) T &, W (R) 39 2|

(c) Both A and R are true and R 1s the correct
explanation of A/ (A) 3R (R) 21 I & 3R
(R), (A) ¥ T& =are 21

(d) Both A and R are true but R 1s NOT the
correct explanation of A/ (A) 3R (R) =@Ml
T4 & T (R), (A) 3 9&l e 7E 2
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Assertion A : In experimental research, the
effect of independent variable is examined on
the dependent variable.

AMTFRAT (A): WTHAIfiTes 9Mer § T@ad = &
WUTE hi el UL = U ht ATl £
Reason R: Causal relation between two

variables can be established only by the
experimental method.

ST (R): ST =W oh Srel ST Wael Jraifites
YUt gRT Temfud ferar ST wehar 2

In light of the above statements, choose the
correct answer from the options given below

IS HAAT oK TR, W Arer faa faswear o
ﬁnﬁwmmaﬁﬁq

(a) A 1s false but R 1s true
(A) 379 2, W (R) T 2|

(b) A 1s true but R 1s false
(A) T4 2, W (R) 318 21

(c) Both A and R are true and R 1s the correct
explanation of A/ (A) 31 (R) &1 ¥ & 3R
(R), (A) #I T =ar= 2

(d) Both A and R are true but R 1s NOT the
correct explanation of A/ (A) 3 (R) @i
T & W (R), (A) 3 T AW T 2|

NTA UGC NET/JRF June 2021(27-12-2021 Shift-I)

Ans. (d) : ‘FFE IR FROT T WA 21 T
Wy § @i WA AT F w A e §
S99 3 Fa T TR @ T 3

3 90 F o9 F0 oy o & g 6 1 oA
Tfiadd gR T e & FR0 a2 fheq @ W
% W FR day YA WY T A 2




Given below are two statements

Statement | : In the 'before-and-after without
control' design, a single test group or area is
selected and the dependent variable is
measured before the introduction of the
treatment.

Statement II: In the 'before-and-after with
control’ design, two areas are selected but the
dependent variable is not measured in both the
areas for an identical time-period before the
treatment.

In light of the above statements, choose the
most appropriate answer from the options
given below

a1 a1 s fou o §:

HA-1 ;T & faan gd-siv-ugma’ fesmega
o, Ueh Uehe! UHTTUT WUE o7 &1 &1 =g feRa
ATET & 2T TSR & AR B4 ¥ ud AT =W
@1 ATaA feRa STar g1

&Il : ‘fEEw & W gd-sin-uge’
feame= o, St =i &1 wa= foRar waT § W
SUSR ¥ Ud, ST & &3 H U UHT Iai &
foru fdy = @1 w3 famar smar §)
3UITH AT & AT |, e fau o famweat
o W HEH IUYTH 3T T 99T ST

(a) Both Statement I and Statement Il are

correct/FI 1 3 11 A1 T 21

(b) Both Statement [ and Statement Il are
incorrect/&4 1 3 11 2T Teid 2 |

(c) Statement I is correct but Statement II is
incorrect/F49 1 TE &, fohed 9 11 TeTd 2|

(d) Statement I 1s mcotrect but Statement 11 1S
correct/HT | TTed €, =] F99 11 Tl B
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. Given below are two statements

Statement | : In the 'before-and-after without
control' design, a single test group or area is
selected and the dependent variable is
measured before the introduction of the
treatment.

Statement II: In the 'before-and-after with
control’ design, two areas are selected but the
dependent variable is not measured in both the
areas for an identical time-period before the
treatment.

In light of the above statements, choose the
most appropriate answer from the options
given below

Ans.(c):W-lW%m%W‘ﬁﬁiﬂT%ﬁﬁt

- 3R-04T fooe &1 YR e 2

oIl T ¢ e W F e @ e v
fese § € &l a1 93 F N 2 3% U & 9 W

ol & & R I o o 2

a1 a1 s fou o §:

&eA-1 : ‘e & famr gd-sin-ugne ' feamea
W, Ueh Uhe! UAIGTUT TUE o1 &1 &1 wa faan
ATET & 2T TSR & AR B4 ¥ ud AT =W
@1 ATaA feRa STar g1

Ol : ‘TEEw & Wy gd-fn-ugre’
feamga ®, S & &1 =aa fwar ST §
SUSR ¥ Ud, ST & &3 H U UHT Iai &
foru fdy = @1 w3 famar smar §)
SUTTh &l o AT W, et feu o faeweat
o W HEH IUYTH 3T T 99T ST

(a) Both Statement I and Statement Il are

correct/FI 1 3 11 A1 T 21

(b) Both Statement [ and Statement Il are
incorrect/®4= 1 3R 11 24T e 2 |

(c) Statement I is correct but Statement II is
incorrect/H49 1 &l 2, fohed 9 11 TeTd gl

(d) Statement I is incorrect but Statement 11 1S
correct/HT | TTed €, =] F99 11 Tl B

NTA UGC NET/JRF June 2021(26-12-2021 Shift-I)




A scientific approach in social science research
should take into account-

amfae fasm e o afaes U o feRa
ATl T £ [T Tfgu?
(A) Metaphysical elements/deHHIET Taaa
(B) Spurious relations/3TAATIUTE: Haer
(C) The factor of co-variation

Hg-Uftad &1 &
(D) Time order/ehTceT shH

(E) The possxblhty of theorisation
@t GHTEAT

Choose the most appropriate answer from the
options given below: /ﬁ{')a faeeai & &
TET IT T T HITAT :

(a) (A),(B), (C only/Fa (A), (B), (C)
(b) (B),(C), (D) only/dad (B), (C), (D)
(c) (C),(D) (E only/&ae (C), (D), (E)
(d) (A), (B), (E) only/&ad (A), (B), (E)
NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




A scientific approach in social science research
should take into account-

|t faAT gier o darae 3Sur § faRa
Tl T AT TWGAT AU ?
(A) Metaphysical elements/dcaHHTHT TaTd
(B) Spurious relations/3TWHTIUTe: Haier
(C) The factor of co-variation

Wg-uliad= &1 ek
(D) Time order/ehTcT ohiH

(E) The poss:blhty of theorisation
ahi GHTEAT

Choose the most app :#)alate answer from the
options given below:/ faereat & &

[ET 3T &1 oG STy
(a) (A), (B), (C) only/&ad (A), (B), (C)
(b) (B), (C), (D) only/&ad (B), (C), (D)
() (C), (D), (E) only/&ad (C), (D), (E)
(d) (A), (B), (E) only/®ad (A), (B), (E)
NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)

Ans. (¢) : FifsEs Y # a9t fofy @ e e
0% ¥ 3 vd faftel & gW yew HdeW U9
v &6 WA 31 e SRURadd EE, FHehd
71 fagidieu 3 dura A s wE 9 a2




Asserﬁon (A) ’ : Doing Inter-disciplinary
research is more challenging than that in
within any single discipline.

AMTRAT (A) : =T fawa vmer s i
W%,m@mm%m
feru T irer @t g W

Reason (R) : It is not possible to combine
knowledge from two disciplines.

&HRUT (R) : af fawat | grea w79 &1 d@areT
g gt %l

In the light of the above statements, choose the
correct from the options §wen below

wAT H Hrar fau v faeweat

o q WEl 3T T Ta9 HITAT :

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3R (R) [
Tdl @ 3 (R), (A) F Tl AT 2|

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)(A) 3 (R) =i
T & A (R), (A) F T8 e 981 21

(c) (A) i1s true but (R) 1s false
(A) 9 & dfT (R) 379F 21

(d) (A) 1s false but (R) 1s true
(A) 378 2 dfdhd (R) T 2|

NTA UGC NET/JRF June 2021(03-11-2021 Shift-1I)




Assertion (A) :; Doing Inter-disciplinary
research is more challenging than that in
within any single discipline.

AMTRAT (A) : 37T fawa vier =T 3Tfereh
gt €, fedlt e erner fawa & aria
ferT TTT viter =t geT W

Reason (R) : It is not possible to combine
knowledge from two disciplines.

HRUT (R) : af fawai & wra [ a1 @areA
Tqrad FE@l el

In the light of the above statements, choose the
correct from the options given below

IUATh HAT o 3Tl |, o fau u faewmeat

o | WEl SO &1 a9 Ay :

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3R (R) |
T @ AR (R), (A) F TEl AR 2|

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)/(A) 3 (R) &l
g 2 dfd (R), (A) 3 H&l AW&AT 81 2|

(¢) (A) 1s true but (R) is false
(A) 9 g dfa (R) 3199 2|

(d) (A) 1s false but (R) is true
(A) 318 2 dfdhd (R) T 2|

NTA UGC NET/JRF June 2021(03-11-2021 Shift-11)

Ans. (c) : 3T 3FUEA WY 3o A MY FH 2
ferdt a7 fawa & fop 1 W &1 o | it 39
YER & W B QA1 3§ e favdl & g9 @ e
foF T 81 3 WG AE 3 R T e e

2| Zufe faded (c) T 2




Statement I : Social scientists belonging to the
verstehen tradition do not accept the idea of
predicting human behaviour in mechanistic
terms./ ¥4 (I): aig fifa o g amtse
AFM TR T=aret Ul o Ad sHagi gfasrarft
& faem & @iter 7 & £

Statement Il : It is asserted that the main aim
of social science research is to promote human
understanding./ <<= (1I): 98 ﬁrs'aqpim hal
Tar § for wmatees famm virer Sgya wea |
I WIcATgd T g

In the light of the above statements, choose the
correct answer from the ogtions given below:/

IUAH AT & el | fou faeweat 7 9

WEl 3TN T AT I

(a) Both Statement I and Statement II are true
F9F 1 3R 11 41 9 81

(b) Both Statement I and Statement II are false
HUF 1 3R 11 4T 38 2|

(c) Statement I 1s true but Statement 11 1s false
HI9 1 §F 2, Al &4 11 379 2|

(d) Statement I 1s false but Statement II is true
HIT | EA 2, Al HI9 11 99 2|

NTA UGC NET/JRF June 2021(03-11-2021 Shift-11I)




Statement I : Social scientists belonging to the
verstehen tradition do not accept the idea of
predicting human behaviour in mechanistic

terms./ AT (I): &g Tfq T Trag AHIS S
AATTeh T=aTe Ual § AT sHasr wiasgarofr
& o= &t wierr T8 & g

Statement Il : It is asserted that the main aim

of social science research is to promote human
understanding./ &= (1I): 98

m%f&amﬁmﬁmvﬁumma}u
hT WieATgd T &l

In the light of the above statements, choose the
correct answer from the ogtlons given below:/

HAT &H ro
TET ITT Rl AT hITAT:

(a) Both Statement I and Statement II are true

H9 1 3R 11 a1 T &

(b) Both Statement I and Statement II are false
H9F [ 3R 11 ST 378 &

(¢) Statement I 1s true but Statement 11 is false
FI9 1 9 8, Afhd H99 11 39 2|

(d) Statement I is false but Statement I 1S true
HIT | AT 2, AT H99 11 TF 2|

NTA UGC NET/JRF June 2021(03-11-2021 Shift-11I)

Ans. (a) : 9&8d U%H SHA 92 ¢ fodahl 314 28 el adsh
T guZET St GUISIINE & 3Miaflke gfiaior & gefidd st
21 396 FqER, 5& UF ViuSdl gE Ak & 3F9d &
qHEA FH awr@m%mas@amimwﬁﬁ%wmm
Wad FH FY F@1 2 3 dwded Ofd ¥ wEe
qmifses d3f-ie FFa1el 9ei # A9 Fggr dfasganft &
faar &t @ier 7@ #d &1 98 Agagds &e o € &
qmtSs O Iy 3299 WEg I A i Siedied
2| OfeT 2HT 99 99 21 3d: faFeq (a) T8 3 21




Which of the following are true about case studies?

frafofiga ¥ ¥ & YaUI-31ae & aR ¥ 6 § 7
(A) Easy to generalize the findings
YTt ot WTHT-HTERTUT 3TET ¢

(B) Normally Selects one case for analysis at a
time/ATHT=IGAT U WHT H Teh YaHtuT ol
T &l ¢

(C) Highly quantitative in character
ﬁ}%m Jodl URUTH ST

(D) Integrates different perspectives
fafirer uftyeat &t dufed & 8
(E) Adopts the most consequent approach to

the particular/fafdTe ¥q wafepe eradt

Choose the correct answer from the options
given below :/ et fou v e # g gt
WTHWW:

(a) (A). (B), (C) only/ Fa (A), (B), (C)

(b) (B), (C), (D) only/ % (B), (C), (D)

(¢) (B), (D), (E) only/ &ad (B), (D), (E)

(d)(C), (D), (E) only/ & (C), (D), (E)

NTA UGC NET/JRF June 2021(03-11-2021 Shift-1I)



Which of the following are true about case studies?

frafofiga ¥ ¥ & YaUI-31ae & aR ¥ 6 § 7
(A) Easy to generalize the findings
YTt ot WTHT-HTERTUT 3TET ¢

(B) Normally Selects one case for analysis at a
time/ATHT=IGAT U WHT H Teh YaHtuT ol
T &l ¢

(C) Highly quantitative in character
ﬁ}%m Jodl URUTH ST

(D) Integrates different perspectives
fafirer uftyeat &t dufed & 8
(E) Adopts the most consequent approach to

the particular/fafdTe ¥q wafepe eradt

Choose the correct answer from the options
given below :/ et fou v e # g gt
WTHWW:

(a) (A). (B), (C) only/ Fa (A), (B), (C)

(b) (B), (C), (D) only/ % (B), (C), (D)

(¢) (B), (D), (E) only/ &ad (B), (D), (E)

(d)(C), (D), (E) only/ & (C), (D), (E)
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Which of the following are true about case studies?
frafofiga ¥ ¥ &9 Jeur-21eas & an ¥ 0 87
(A) Easy to generalize the findings
UTiAa T ATATATERTT 3 §
(B) Normally Selects one case for analysis at a
time/ATHT=IGAT U WHT H Teh YaHtuT ol
T &l ¢

(C) Highly quantitative in character
fa}%wn Jodl URUTH ST

(D) Integrates different perspectives
fafirsr uftyeat &t gafea &t g

(E) Adopts the most consequent approach to
the particular/fafTe %ﬁ 'GETTT"E 3ﬂﬂ?ﬁ
IUTTH @I 3iTfieT &TaT B

Choose the correct answer from the options
given below :/ et fou v faweat o g L E|
WWWW:

(a) (A), (B), (C) only/ &ad (A), (B), (C)

(b) (B), (C), (D) only/ &3 (B), (C), (D)

(¢) (B), (D), (E) only/ & (B), (D), (E)

(d) (C). (D), (E) only/ &3 (C), (D), (E)

NTA UGC NET/JRF June 2021(03-11-2021 Shift-lll

Ans. (¢) : $9 (I2) 3req97 U =AfH, TGI8 A1 T2
T8 3999 21 98 &9 @l | aAaft & siaq 3k zfoem™
& TN g Uge H fAveNU R & ded 3R HRui
F qare & fau fFar s 21 &9 = & g 32vE
fodi aafena fafa & avla @ @) IR & fau f&d
fth, FGHE, TS a1 GLAT H 89 eI FET| HY
wd F gl § 9 F9 8-

(i) SHIGET U GHY § Ush SHUT 1 999 Tl 2|

(i) fasisar § 3=g uftomy aren

(iii) fafir uftyesi 6 @nfsa s 21




Statement I: Experimenter effects are errors

introduced during the collection or analysis of

experimental data due to the behaviour of the

experimenter.

HAA- |: GANTehdl WHTE GANTehdl o Sad8l oh

HITUT YAk 3TTahSl o |USUT AT favewur o6

2= g3 Fgfeat

Statement II: Due to the presence of certain

cues in the experimental setting, the

participants form an interpretation of the

experiment's purpose and subconsciously

change their behaviour to fit that

interpretation.

&HAT 11 : YANTHE TGl W SHhidud Hehdl il

Iuftafy & wRuT WEwnit ganT & gErsa @

ST &hid & 3 9 Ta=aT WY U 359 = 9

A fae™ & fau s1uar saaEr ag9« 2 €

In light of the above statements, choose the most

appropriate answer from the options given below

IUUH AT oh ATATeR |, Hro fau Ta faswmear

W A Tl 397 T 999 RifAU:

(a) Both Statement I and Statement II are
correct/&H9 1 3 11 21 T &

(b) Both Statement I and Statement Il are
incorrect/&Hg= 1 3R 11 41 Ted &

(c) Statement 1 1s correct but Statement II is
incorrect/&o 1 9&1 2, fohg 99 11 Te1a @

(d) Statement I is incorrect but Statement II is
correct/ %49 1 e &, ﬁlﬁ FHa9 11 91 2

NTA UGC NET/JRF June 2021(01-12-2021 Shift-I)




Statement I: Experimenter effects are errors
introduced during the collection or analysis of
experimental data due to the behaviour of the
experimenter.
HT- |: TANTShRdl T AT dl o6 oadald o6
S g8 Ffear
Statement II: Due to the presence of certain
cues in the experimental setting, the
participants form an interpretation of the
experiment's purpose and subconsciously
change their behaviour to fit that
interpretation.
&I Il : UIATHa: Oav&ar 0 hidad Hahdl ol
Iufterfay & &RuT Wgunft ganr & garsa o6
AT &3 & 3R 9 3a=aT T 9 S5 S 9
A fae & faw 21aar sasr a9a 29 8
In light of the above statements, choose the most
appropriate answer from the options given below
wHAl o TTeres |, e fau o fassear
o T WEl 39T T S99 Shifeu:
(a) Both Statement I and Statement II are
correct/&Ha= 1 31X 11 &A1 &l &
(b) Both Statement I and Statement Il are
incorrect/&9 1 31X 11 ST 7Tad &
(¢) Statement 1 1s correct but Statement II 1s
incorrect/&a 1 &1 2, fohg &= 11 7era @
(d) Statement I 1s incorrect but Statement II 1s
correct/ HAT [ 79 &, ﬁﬁ Fa9 11 91 2
NTA UGC NET/JRF June 2021(01-12-2021 Shift-I)
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Ans. (a) : 3H1 FI T -
YIhal Y9 YAMEdl & HGER & HRUT FANTTE
Hidhel & HHRv A1 faversw o IR g§ Ffedi €
YT AdE § Haud Hahdl $i 3uafq & FRO
TRt YA & AN & AW Fd & 3R d Haddd
W W 39 A § g fagH & fou s Fagr
9ed 2d 2|
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Sometimes, subjects who know that they are in
a control group may work hard to excel against
the experimental group. Such a phenomenon is

known as/ &t &t g, W qg TS £ fH
a e wug 0 €, yaiie oo & faeg
IR I fo@e & fow tgd aF 9ad 8139
Uit &t fe ®U ° ST A e

(a) Compensatory Rivalry/&iﬁ‘{ﬁ IHEG]

(b) Controlled Competition/fafa wfaeug

(c) Inspirational Influence WTIFW q41d

(d) Motivational Contest/3fstas sfaaifian
NTA UGC NET/JRF June 2021(25-11-2021 Shift-I)




Sometimes, subjects who know that they are in
a control group may work hard to excel against
the experimental group. Such a phenomenon is

known as/ &t Feft Yo, W 9% T ¢ R
¥ i W, g Wy % g
00 I @ & for ¥ o e €1 3
(a) Compensatory Rivalry/ﬂ{ﬁ'{ﬁ A
(b) Controlled Competitionfﬁ?ﬁﬂ Sioeg]
(c) Inspirational Influence /HTWW 591d

(d) Motivational Contest/3fsa: Sfeafirn
NTA UGC NET/JRF June 2021(25-11-2021 Shift-I)

Ans. (a) : 3 7 yO9, T % T ¢ & d R
T B, i W & fovg 390 I fe & fou
e &% WA &1 38 ufwe @ afyfd wfvdfem & v
T T 2




Which of the following belong to the_category
of true experimental design?/ T &

ArATaa GTaiiTeh IMT&HeaaT ¥ OEg &2

(1) One group pre test post test design
Ushdd

(11) Two groups randomized subjects post test
only design
feagdia agediaa fawa adeir sifuasega
(111) Two groups static designs
femera e safieregar
(1iv) Randomised groups pre test post test design

qgeihd Y8 JaqdeioT qdeqonal sifisear

(v) One group time series design
UHel §98 J@ar AfqsHeq-
Choose the correct answer from the
options given/ ==l fau Tu faemeat & & W&t
IO T AT hITAT:

(a) (i) and (ii) only/&ae (i) #H (ii)

(b) (11) and (111) only / shad (ii) 3 (111)

(¢) (ii) and (iv) only/ &ae (ii) 3 (iv)

(d) (iv) and (v) only/ FHad (1v) 3R (v)

NTA UGC NET/JRF June 2021(22-11-2021 Shift-11)




Which of the following belong to the_category
of true experimental design?/ Eac]

ARl JTATe T eTT o Tag &7

(1) One group pre test post test design
TSHd

(11) Two groups randomized subjects post test
only design
feada ag=bia favg wdemmm stfimea
(111) Two groups static designs

faameia fre safuemegn

(iv) Randomised groups pre test post test design

AT TYE TAUIRIUT THUTR SifshedH

(v) One group time series design
Uchel WIE JGcll
Choose the correct answer from the
options given/ == fou v famweat & & W&
I HT T Rl
(a) (1) and (1) only/'aﬁlﬂ (1) HR (u)
(b) (11) and (111) only / Had (ii) 3R (111)
(c) (ii) and (iv) only/ Fa (ii) 3 (iv)
(d) (iv) and (v) only/ &ad (iv) 3R (v)

Ans.(c):mlﬂmmﬁﬁmﬁmé-

(i) A TR VT ORI S
(i) e g fava v dad e

NTA UGC NET/JRF June 2021(22-11-2021 Shift-IT)
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Given below are two statements:
Hr=r S @ fau T §:

Statement-I: Action Research is used primarily to
improve a given situation by a practitioner.

ST (1) : 3TAEHAT Ief¥@ STTHIH H ITAAT
Sua: Sed gfiftafa § dada g & 21
Statement-II: Applied research 1s directed at
exploring applicability of principles already
established.

wAT (I): Fagd 3AqHEYE gd-wfud fagiar =
SATSAdT & ITA & 9T & R I BT 2|

In the light of the above statements, Choose the
most appropriate answer from the options
given below:

IUAH ST & TTeres o, =t fau 7o faesear

o O Uad 3SUTwh 3O ahl 9T ahifag:

(a) Both Statement | and Statement Il are correct
Ha9 (1) 37 (1) 41 9&1 &

(b) Both Statement I and Statement II are
incorrect/shd- (1) 3R (1) T AT @

(c) Statement 1 1s correct but Statement II is
mcorrect

FI9 (1) G981 2, dfda Ha= (1) 7o @
(d) Statement I 1s incorrect but Statement II i1s
correct/&H9 (1) TaAd &, ifehd &Ha= (11) 9&T &
NTA UGC NET/JRF June 2021(22-11-2021 Shift-I)




Given below are two statements:
et gt sy fau T §:

Statement-I: Action Research is used primarily to
improve a given situation by a practitioner.

wA (1) : AMHA ILA FIHIE H TN
yud: yed uiftafd # dada aq &tar 31
Statement-I1: Applied research is directed at
exploring applicability of principles already
established.

HAF (I1): HAdgd AqHuE gd-wnfuq fagiar =
YASTAl & I5¥F o FATUT FH AR ING T |

In the light of the above statements, Choose the
most appropriate answer from the options
given below:

IUTTh AT o et |, Hrer feu o fawmeat

o | 9ad IUYTh IO Sl I iU

(a) Both Statement I and Statement II are correct
o (1) 3R (11) ST T &

(b) Both Statement I and Statement II are
incorrect/shd- (1) AR (11) gl TAd @

(c) Statement 1 i1s correct but Statement II is
mcorrect

F99 (1) &l &, wAfeh Ha (11) 7o @
(d) Statement I 1s incorrect but Statement II is
correct/&HIT (1) Ted &, wifeh %I (11) Tt @
NTA UGC NET/JRF June 2021(22-11-2021 Shift-I)

————y—— —— —=—=

Ans, (ﬁ) _:"31_"11_@_%-6_' B’%f?lﬂ g & I WTFIH
s YRRl § §a7 81 & ¢ | @ Wit R
& i % 2 B 9 ) 0 A )

& F99 | 70 59 1] 99 2|



. In which of the following research methods,
process of hypothesis testing optimally
safeguards the role of extraneous variables?

et & wht mu-fafted W @m W fafa
UTeheuT TteTT Wishan g8 w0 W Ay e
i feT sl U FT 87

(a) Expost Facto method/@fR - FUTeh

(b) Experimental method/SaMoE-fafe

(c) Historical method/afegires-faft

(d) Descriptive survey method
farauTTeTas-dequ-fafy
NTA UGC NET/JRF June 2021(22-11-2021 Shift-11)



. In which of the following research methods,
process of hypothesis testing optimally
safeguards the role of extraneous variables?

o & wh mu-fafet 0 @ o fafy
UG T YR 38 W ° A W
NI A ¢

(a) Expost Facto method/ TR - ST
(b) Experimental method/ ST faft

(¢) Historical method tfofar-fafiy

(d) Descriptive survey method
G CERC G
NTA UGC NET/JRF June 2021(22-11-2021 Shift-11)

Ans. (b) : S WY a9 WY & 9 Seee
H@W@Hﬂ?ﬁ‘eﬁmélaﬁqﬁaﬁqm Hfehed, TR
a9 & Sie-die ¥ et a1 gia1 81 98 g
Higel W At Far 2 997 39 FHR F WY § eE
foifaa gram 21




. Creating  purpose  statements, research
questions and hypotheses that are narrow and
measurable would mark the characteristic
features of which research type ?

WA HH, Y YA A Ui Te e
UREeAT A & et o ® form v
Ve a1 e §7

(a) Narrative research/faauTeTs WY

(b) Ethnographic researchﬁﬁl'rﬁ'ﬂ Y

(c) Grounded theory research

i g
(d) Experimental research/SaTTATd WY
NTA UGC NET/JRF June 2021(21-11-2021 Shift-1)




. Creating purpose statements, research
questions and hypotheses that are narrow and
measurable would mark the characteristic
features of which research type ?

YA ®e, I YuA 3 uitfie e W
UREAT TaR & frefofigs # @ o o
WehTY cht fergrerer g7

(a) Narrative rescarch/faawumea e

(b) Ethnographic research/J=dd Y

(¢) Grounded theory research

i fagiTns Y
(d) Experimental research/SaTTeE MY
NTA UGC NET/JRF June 2021(21-11-2021 Shift-I)

Ans, (d) : YS9 F99, MY Y99 3R ORFE wd ol
R TR FE A e Wy 3 favma 2)
TeE WY IR0 WG YER & WY W 21 A
feed (d) 9 2




Hypothesis testing which results into either
affirmation or disaffirmation is the explicit
concern in which methods of research?

ufteheaat ufterur faant afturfer am ar srfgfe
mmﬁwﬁ@ﬁ%,maﬁﬁﬂﬁﬁﬂﬂﬁ
¥ for faferat &1 we o §7

(A) Descriptive method/faavumens fafer

(B) Experimental method/SaTTenes fafir

(C) Ex post Facto method/a&maf=T fafer

(D) Historical method/UfegTiires fafer

(E) Exegetical method/aamaamees fafer

Choose the correct answer from the options
given below:

et fou T faeeat W W WE I @ 99 it
(a) (A)and (B)/ (A) 3R (B)
(b) (B) and (C)/ (B) 3 (C)
(¢) (C)and (D)/(C) 3R (D)
(d) (D) and (E)/ (D) 3R (E)
TA UGC NET/JRF June 2021(20-11-2021 Shift-I)



. Hypothesis testing which results into either Ans. (b) : IREegar e fme oftofa ar @ gy
affirmation or disaffirmation is the explicit 71 31y ¥ &9 § A 2, Y & YA vd Uy O
concern in which methods of research? - TSN S 5
uRtemear ufteror frmat ofturfy o & sfogfe (Fraf fafe) & w0y wUER 2| |
T YT & B gl &, YN @ freAtenaa o mm:-wmﬁaﬁémm,aﬁ@
ﬁﬁwﬁfﬁﬁwmﬁmﬁ? gﬁaﬁ,m%wﬁwwm

Sdl @ |
(A) Descriptive method/faavurnenas fafer . R ;
(B) Experimental method/FaTTTeda fafir ?:g e 5 g;lg A S Eg_d ?;r ?ﬁﬁw; ;’E
(C) Ex post Facto method/@mai« fafir Waum%agml ot 3;2—:, ;l::l Gﬂ?ﬂuﬁl l
(D) Historical method/UfegTita fafir —_—

(E) Exegetical method/amaaree, fafer
Choose the correct answer from the options

given below: L
(a) (A)and (B)/ (A) R (B) Online Study |

(b) (B) and (C)/ (B) 3 (C)
(¢) (C) and (D)/(C) 3R (D)
(d) (D) and (E)/ (D) 3R (E)
TA UGC NET/JRF June 2021(20-11-2021 Shift-I)




. What are the activities which take place during
the stage of reconnaissance in action research?

feraTeen STTHUT W WHiaITee AT o ST
& 2 S W HHhATT fHT AT §7?
(1) Identifying and classifying general idea/

T gROT i Yg9H J91

(11) Describing the facts of the situation/gRfEefaai
& a0 F JUH

(iii) Explaining the facts of the situation/IRfEfaai
& deAl i AR FEAT

(1iv) Constructing a general plan/9dMHT qrsT H

Al
(v) Developing the next action steps/aﬂ'lﬁ
forarenas @l @t fasfya &

Choose the correct answer from the options
given below :

ot fodr T faeedt ® @ W S A

(a) (ii) and (iii) only/&ae (i) 3R (iii)

(b) (i) and (ii) only/&ad (i) 3R (ii)

(¢) (iii) and (iv) only/&ad (iii) 3 (iv)

(d) (1v) and (v) onlyfaﬁ?-l(iv) HN (V)

UGC NTA NET JRF June 2020 (4 Nov.) Shift-I




. What are the activities which take place during
the stage of reconnaissance in action research?

feraTenas T o iteTTeTeh WAATOT o ST
& I W T wdweTT foRT W §?
(1) Identifying and classifying general idea/

HEF 9RO & G a9l

(11) Describing the facts of the situation/gRftafaa
& auAl & auiq

(iii) Explaining the facts of the situation/aRffaa
& ql & AR FHAT

(1v) Constructing a general plan/€9H< ST H

Al
(v) Developing the next action steps/3T7Tcl
forarenas =xull &1 fasfa e

Choose the correct answer from the options
given below :

e foar 7 fament & & wE 39T g

(a) (1) and (111) only/aﬁ?ﬁ(n) 3R (111)

(b) (i) and (ii) only/&ad (i) 3 (i)

(¢) (iii) and (iv) only/&ad (iii) 3 (iv)

(d) (iv) and (v) only/&ad (iv) 3R (v)

UGC NTA NET JRF June 2020 (4 Nov.) Shift-I

Ans. (a) : Fas 3999 § Tfteniens TderoT & 90T
& dra uRfEafadi & a2 &1 avia aon ofiftafaa & Tt
& ARA FEya srAean Fu S 21 Shams sgEuE
fFd wuen & w9 A a9l 39S FEE 29 3uE gEH &
fore &t S 21 Faes S1EYE & S 99 a2
foraTs STHYE I8 & 3UAN FaANgH Fe oifaq A fHa
oaT




Which of the following shows the correct
sequence in undertaking Action Research
based studies?

feramenan U™ W Ui teTEH HA &
for freferfiaa & & @ adt w @t guiiar 87

(a) Planning, Acting on the plan, Observing and

Reflecting/ IS, a9 T &, Y1 3R
femett srfea

(b) Acting on the plan, Observing, Planning and
ReﬂectmgﬂfﬁF-lT W &9, ﬁ&TﬂT fgem 3R

el Ffea
(c) Reflecting, Planning, Acting on the plan and

Observing/famsft sHfdem, faH, aeA ®
F 3R Fequr

(d) Acting on the plan Reflecting, Planning an
Observing/ATs1 %‘Wﬁ H‘j’%%lﬂ'-l
ER EERCRtE
UGC NTA NET JRF June 2020 (12 Nov.) Shift-1




Which of the following shows the correct
sequence in undertaking Action Research
based studies?

forameeh STTHUT WY ST ITeaad W o
fery fraferfiga & @ @i wdt w @t gorar 87

(a) Planning, Acting on the plan, Observing and

Reflecting/FRISH, aI5A1 W &/, w3
femreff arfeid

(b) Acting on the plan, Observing, Planning and

Reﬂectmg/?fﬁl:ﬂ T &, ﬂaﬂﬂ faeH 3R
et arfeia
(c) Reflecting, Planning, Acting on the plan and

gtge;ﬁv;ngﬁw sfdaE, faeH, a9 ®

(d) Acting on the plan Reflectm anning an
Observing/dTsH1 éﬂ?ﬁ Hi%ﬂ'vl
ERIEERCR G

UGC NTA NET JRF June 2020 (12 Nov.) Shift-1

Ans, (a) mmmmmw%m
T g -

T, A 7, S i fo o

7 T T ¥ 2




L] LS I

Which of the following shows the correct
sequence in undertaking Action Research
based studies?

feraTerer IHUT UT MUTiE AT A &
fore frefafga & & & adt w @t gurtar &7

(a) Planning, Acting on the plan, Observing and
Reﬂectlng/ﬁﬁﬁq o W HE, FeuT 3R

famelt arfdaa
(b) Acting on the plan, Observmg Planning and
Reﬂectmg/EﬁTrF-lT W HHE, ﬁa'UT farsa 3R

fept srfer

(c) Reflecting, Planning, Acting on the plan and

Observing/fanyff sHfdaa, fFaem, aea ®
a3 S

(d) Acting on the plan Reflectm anning an
Observing/ATSHT é’ﬂ?ﬂ 3?%??
ERIECR G ﬁ‘am

UGC NTA NET JRF June 2020 (12 Nov.) Shift-1




_ |
Statement/&h&= 1: Action research 1s cyclic in so

far as its involves 'Plan-Act-Observer-Reflect’
cycle/fFars FHYM 9@ g1 @ Fifh 9
Ar1-RaT-gdaeT-fammur #1 9% et g 8|

Statement/&h& 2: The purpose of Action
research 1s to develop a theory to explain causal
relationship among variables/fFaTas UM I

YA 90 & d9 FRONHS Ha9 Hl T FH 8]
us fagia fasfam & g 2

Choose the correct answer from the options
given below:

(a) Both Statementl and Statement 2 are correct/
FYF | AR 2 21 T 2

(b) Both Statementl and Statement 2 are
incorrect/&4 1 3 2 241 |l 7l 2|

(c) Statement | 1s correct but statement 2 1s
incorrect/F4 | T g, f] F49-2 TEI T 2|

(d) Statement | 1s incorrect but statement 2 1s

correct/FIH 1 TE A 7, fohg F99-2 el

T 2
UGC NTA NET JRF June 2020 (30 Sept.) Shift-11




I b I | L

Statement/&e= 1: Action research is cyclic in so Ans. (c) : 79 | 981 ¢ fhq F99-11 T8 71 21 fopareas

far as 1ts involves 'Plan-Act-Observer-Reflect’ FHYE T g ¢ FHifs 98 Are-fepar-udae-
cyclemwmiﬁmgmm feramoT &1 9% wfve 2 -
IrSHT-faT-gdaeur-faamur F1 9% wfde & 2 gt

Statement/&hd< 2: The purpose of Action /
research 1s to develop a theory to explain causal

relationship among variables/fshaTeieh SFEEH & vt
YA T & a9 HRONTHS FaY & A FH 8

us fagha fasfaa & g 2| \

Choose the correct answer from the options

given below:

Frer fou o faeeat o @ o 3w gia:

(a) Both Statementl and Statement 2 are correct/
FIA | 3R 2 A G 2

(b) Both Statement]l and Statement 2 are

(c) Statement 1 1s correct but statement 2 1s -
incorrect/®4A | Tl 2, foheg F99-2 TEI Tl gl LA

(d) Statement | is incorrect but statement 2 is

correct/FaT | T T 2 , f&q F9A-2 W@

-gfa. él P i ——————

UGC NTA NET JRF June 2020 (30 Sept.) Shift-11




bt |

. A college teacher plans a research programme
in which he/she intends to improve the socio-
emotional aspect of his/her classroom climate
during teaching. Which one of the following
research method will be considered
;ggropriate in this context?

TEITETera LU Ueh Il Ay dar
& § A IUHT ILWT AT & aNH
AUH HmAT W WHIAR- TGS UEE ol
QUWAT §1 30 ded # frafeafes § @ -
wirer fafer suges Wt smoi?

(a) Experimental method/sammer fafer

(b) Descriptive method/aviATers; fafer

(c) Historical method/ufegifia fafer

(d) Action research method/fsharaa ﬂﬂ'ﬁﬂﬁ fafer
UGC NTA NET JRF June 2020 (24 Sept.) Shift-1




Ty I

. A college teacher plans a research programme

in which he/she intends to improve the socio-
emotional aspect of his/her classroom climate
during teaching. Which one of the following

research method will be considered
appropriate in this context?
#{ TEITRITera 3TEATUeh: Ueh Il ShTAehH qart

waT ¢ ToaH IWa T AU & g
AUft wem W WIHIGH- WIS Uge ol
U 1 39w § frafefige @ @ @F-w
virer fafer suges wrt Sot?

(a) Experimental method/sammyer fafer

(b) Descriptive method/duiTe faféy

(c) Historical method/ufegrfias fafer

(d) Action research method/fsharHa 31{1"&&1’—[ fafer
UGC NTA NET JRF June 2020 (24 Sept.) Shift-1

Ans. (d) : fFFas 3gyE fafy sgant anf afe =i
TRifaareag fies s Yy SEsHT dar & SEd 39
¥ oo & A Ao Fan § qfoE-aEneE 18
I GURAT 2|

forarrs oy f&dt guen & waEd 3R 39% e
& fore ggma 39 & fow smifsa @ Sl 31 sHet wHfa
Ih1g Bt B




Causal relationship between variables is
identified in which type of research?

T & TET HIA-HNUT el i Ugard fehd
YN & FATULT T it FTet § ?

(a) Historical G RIRES

(b) Experimental /AT

(C) Survey /e

(d) Case study /aAfth 319




- Causal relationship between variables s
identified in which type of research?

T & WA H-EA WeY @ g few
Y& & AR § @t 7§ 7

(a) Historical /tfeafe

(b) Experimental/Fl?iﬁTTIT'chnr

(c) Survey ke

(d) Case study /T 37T

Ans, (b) : T & Te7 F-GT01 WY 3 TEEH Ao
G 3 S 2, A A AN &
A e T 3 G I T R W g

T - Wy & e § fE an W @ dn g
3 Fimm #ifes fefo v aefien &9 @ A @
T AT F F W G T A wdm
e e e €|




Which of these cannot be put into non-
experimental research?/ a  foeaet

YA STHUTT T &l STl ST Tahal &7
(a) Field Study/& 31994

(b) Field Experiment/@'ﬂ' DI

(c) Case Study/=IZ-T g4

(d) Survey Research/Tdei AT



Which of these cannot be put into non-
experimental research?/ o feue

YT STHT T ST W1 Hehell §7
(a) Field Study/& 37&7a

(b) Field Experiment/@'ﬂ’ it

(c) Case Study/=Z-l AEFH

(d) Survey Research/HdeuT AT

Ans. (c):amﬁrﬁmmﬁtmﬁﬁ@m@%
FGEuE 2 598 @Oda 9X =1 3399 91 @1 Sigshdl 39
Had =1 37adisha Haar 2, foad gZar gfea @i 8 39
SR 9T hid faw sg=nt fasagor ssTar 21 39 96K
a8 FATHE =TT ok S0 SidT @ aAT SEshdl fawAl i
faafaa, @vht =1 gfigfda a8 =T gO=har @, <fsha fased
At & fau ==arEar ar feoaforat gz fasft w=ar 2

IG: AW JAFHIH H F21 3757939 (Case study) Tl
snfae fopar sar @, S=ifes 98 ardfass T 3 9919
Tayg gai3fa Aa@1 < Sohal




The research stream of immediate application is :
TAeahTeT ATAEH chl STTHUTT T &RIT ¢ 7

(a) Conceptual research/d=nfia 3171"{5{%117{

(b) Action research/fshareae TTHYM

(¢) Fundamental research/Hifcidh ST EHM

(d) Empirical research/39as= ¥4




The research stream of immediate application is :
ACHTEA AT ol STTHUT &N &I §7

(a) Conceptual research/aam 3171’{?%11?[

(b) Action research/(SFaTeH FTHEH

(c) Fundamental research/Aifed 3ggM

(

d) Empirical research/3 a4 1Y

Ans. (b) THH 99 3m4iq fFaes 3MEUE dobla 37ded

& HuE 9/ 2, o de Rafaar § e S @-

1- dchld 9HET & GHYE |

2- f59 gwen & gueE g § 2, 39 fHaasha
gHitenr 9 & fou

3- GHEl GHEE FA are SERarsi § &9 gER ud
genyA f&ar 5T 9&6ar 2, ¥ SEA |




Scatter diagram is:/ fa@ra fo T

(a) Mathematical method of finding out

correlation/FeT ey e @ nfvrdia fafy

(b) Positional method of finding out
correlation/FgT - fAaad &t ferdia fafy

(¢) Graphical method of out correlation/Heq¥ ¥
fymrer &t A fafe

(d) None of the above/3TIH | & FHIE &



Scatter diagram is:/ for@va o= T

(a) Mathematical method of finding out

correlation/Tgaa= fAama= &t nfordra fafe

(b) Positional method of  finding out

correlation/F9=y fAFa &t ﬁ-“?l'rﬁ'q fafe

(¢) Graphical method of out correlation/98H+¥
faerTe &t e fafe
(d) None of the above/3UUWH H T HIg &1

Easy Notes 4u

Online Study

Ans. (¢) : 5T a1 fagwE 3G & 9 & & d6y F W
favemur &9 & fou v wiferda 3y 21 ydivl 3 §,
st figsl & T & FifE 3N T ANS W & 3R

W & 94l 96y i TG G T 8




The data used in experimental research should
be collected by following method's by:

YR HY % @W § o W 9
THehl &l UTE & o fora fae fafir fafiat
T YA graT ¢ :

(a) Conducting experiments/JI&0T e

(b) Directly asking questions/ e g9 PEE
(¢c) Sending printed questions/S¥ATac! I

(d) All of the above /39Ith T



The data used in experimental research should

be collected by following method's by:
WEiTeRs 3IgHEETT o ehid # foa s arer

THR! ol UTE i o fora e fafir, fafear
T ITANT BIAT 8 :

(a) Conducting experiments,/9{&70T FH

(b) Directly asking questions/ g wvA gHhi

(¢) Sending printed questions/S¥ATaE TS

(d) All of the above /39dth T+

S — SR — S — — o — —

Ans. (a) : SIS 3TH9E & &M § fod 94 g gHa
H I w4 & forw gl fafy &1 39 2@ 2




GV TfcgTiaes omrer (Historical)




. Given below are two statements:

et 2 e fou o §:

Statement 1 : The opinion that history must
emerge from archives 1s questioned repeatedly
over a period of time.

& () : & 0Ey 4 39 fqUR W anan §e
fo e @ o 3foera o st sifveral @ g )

Statement II: Content fidelity compels history
researchers to seek several sources of information.

& (Il) : favaw @ fogem e & Wi
3 T % v 9 2 3 T A &

In the light of the above statement. Choose the
correct answer from the options given below:

TWITH HUF & el |, et fow v feraeat
U T et 3T & T9H H;

(a) Both Statement I and Statement Il are true
FHIF 1 37 11 S+ 97 2|

(b) Both Statement I and Statement Il are false
F99 [ 3R F49 11 1 39T &

(c) Statement I i1s true but Statement I is false
HI9 | 9 2, AAfehT HI9 11 379F 2|

(d) Statement I i1s false but Statement 11 1s true
HI9 | 37TF 8, cAfhd A= 11 TF 2|

NTA UGC NET/JRF June 2021(04-12-2021 Shift-11)




. Given below are two statements:

et 2 e fou o §:

Statement 1 : The opinion that history must
emerge from archives is questioned repeatedly
over a period of time.

& () : & 0Ey 4 39 fqUR W anan §e
o T 2 4 3R 31 3 el @ @ A

Statement II: Content fidelity compels history
researchers to seek several sources of information.

& (Il) : favaw @ fogem e & Wi
1 T 3 (o B g @ Ao a2

In the light of the above statement. Choose the
correct answer from the options given below:

TWITH HUF & el |, et fow v feraeat
U W et I & T I

(a) Both Statement I and Statement Il are true
HI9 1 3 11 a4 T 2

(b) Both Statement I and Statement Il are false
F99 [ 3R F49 11 1 39T &

(c) Statement I i1s true but Statement I is false
FI9 | §F 2, Afhd F99 11 3794 2|

(d) Statement I i1s false but Statement 11 1s true
HI9 | 37TF 8, cAfhd A= 11 TF 2|

NTA UGC NET/JRF June 2021(04-12-2021 Shift-11)

Ans. (a) : 3f08E & TRA & ®Y | uigfafuai, 3, 5o,
Hfergl U Aa9Si 3nfe &1 y@n anélﬁﬂasmm
g & Ted yuifo FE &1 31: ﬁwa'@aﬂﬁ%mm%g
viuskaisi & gaa & fafs @ ded & a9 @
Uedl 21 I8 Hedl Tad el &l UF guaEay § 39 faur
W IR-9) Y94 fHar s aifeu o sfoera & 3cafa arei
g A1 iU a1 T2 |




Which of the following research method

emplovs internal and external criticism for
analysis of evidences and data?

qa st o fagewur gq fefeafad
t auum fafr ¥ oriafiies uwd angd
anaftamaryﬁnfﬁmmm%:
(a) Ex post facto method/&marae fafy
(b) Experimental method/Sammerss fafer
(¢) Historical method/Ufaerfass fafer

(d) Descriptive survey method/fdaTuTeia; HeleguT
fafey

UGC NTA NET JRF June 2020 (4 Nov.) Shift-II




Which of the following research method
employs internal and external criticism for
analﬁsis of evidences and data?

@ H aFEue fafr ¥ afafe @ awd

STEATSIAT & YT e S 8

(a) Ex post facto method/@rar fafy

(b) Experimental method/sarme; fafe

(¢) Historical method/ufrifea fafe

(d) Descriptive survey method/faaommrs g
fafyy

UGC NTA NET JRF June 2020 (4 Nov.) Shift-I

Ans, (¢) : TRl rEem fofd & wedl @ Hide &
fageten g9 Al T @i et 1 S fE S
3| T foae MY & U YR 3 AR 9 R
g%a%ww%@ﬁmmq&ﬁmmwmﬁm
Tl 2|




Assertion/3TTW&ReT (A) : Data must be authentic

before it can be of any value in a historical
research, yet proof of authenticity does not
establish 1ts value, 1t must also be accurate/

tfeefs iy o veu fEd wew & @ I wd
Ty g afeul fiR ot ST # e
3% e 1 TG T HN ¢, a8 RS o a
91feu |

Reason/deh (R) : External criticism 1s, therefore,
referred to as lower criticism of the data/3gfcTT

A AT & ed a1 Feat geiter &7 S 2 |

In the light of the above statements, choose the
most appropriate answer from the options
given below:

IUYTH HA & AT W iR et o
¥ waifis IUgwh I I

(a) Both (A) and (R) are correct and (R) 1s the
correct explanation of (A)/(A) 3 (R) CiT]|
TE & 3 (R), (A) F GEt AR 2

(b) Both (A) and (R) are correct and (R) is not
the correct explanation of (A)/(A) R (R) G|

W & T (R), (A) B T ARG E 2

(c) (A) is correct but (R) is not correct/(A) T&! 2
7 (R) Té & @

(d) (A) is not correct but (R) is correct/(A) Tl
T & Ut (R) 9 2

UGC NTA NET JRF June 2020 (17 Oct.) Shift-1
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Assertion/3TTW&ReT (A) : Data must be authentic

before it can be of any value in a historical
research, yet proof of authenticity does not
establish 1ts value, 1t must also be accurate/

tfeefs iy o veu fEd wew & @ I wd
Ty g afeul fiR ot ST # e
3% e 1 TG T HN ¢, a8 RS o a
91feu |

Reason/deh (R) : External criticism 1s, therefore,
referred to as lower criticism of the data/3gfcTT

A AT & ed a1 Feat geiter &7 S 2 |

In the light of the above statements, choose the
most appropriate answer from the options
given below:

IUYTH HA & AT W iR et o
¥ Taifis IUgTh I I

(a) Both (A) and (R) are correct and (R) 1s the
correct explanation of (A)/(A) 3 (R) CiT]|
TE & 3 (R), (A) F GEt AR 2

(b) Both (A) and (R) are correct and (R) is not
the correct explanation of (A)/(A) R (R) G|

W & T (R), (A) B T ARG E 2

(c) (A) is correct but (R) is not correct/(A) T&! 2
7 (R) Té & @

(d) (A) is not correct but (R) is correct/(A) Tal
T & Ut (R) 9 2

UGC NTA NET JRF June 2020 (17 Oct.) Shift-I

Ans. (a) : UfaRfas g a2 feen e & du
2 S NYSdl 3dd & sfae W WY & & fow g3
Fd 2| 3 Faftgd U8 AR A § Heftd 27
U HeayUl Yodidd fhar Sar @1 37d: g ufRenm
W FH & U sAisel & y9fves 3R s gFr 9eul
3d: 37T U § UHAAT 3Mihel F gHite &t S 81 37K
Hihel F THIUTHAT 9% Hed Hl (A9ifd & Hr 2
AR T FHI 3Ahel F freaw gt FHar Sar 2|
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(Qualitative and Quantitative

Bl Methods)



Summarising and interpreting primary studies
related to the identified research question or
objective in a qualitative manner is called :

AfUFTT INET WY Ial Ievd W WAl
wrefire et @ uITers {ife | wr-waruT
3 SATEAT T T FAT Tl AT 2

(a) Qualitative review/TUTicHeh AT

(b) Realistic review/FaTdwe T

(¢) Narrative review/Jdid el
(d) Meta review/3f& Qe

NTA UGC NET/JRF June 2021(05-01-2022 Shift-11)




. Summarising and interpreting primary studies
related to the identified research question or
objective in a qualitative manner is called :

AT TN YT YT YA W WEd
wTerfireh STEIEAT T Uk Tifer ¥ HR-Heru
3 G & T ST g W 87

(a) Qualitative review/ToTedh e
(b) Realistic review/FUTHIE Eﬁﬂ&ﬂ

(c) Narrative review/Jdid T4
(d) Meta review/31e G

NTA UGC NET/JRF June 2021(05-01-2022 Shift-11)

Ans.(c):ﬂﬁiﬁ?ﬁﬂmmﬁwwﬁﬁwﬁ?
g &1 e {9 R e R e a6
T TR ) I 21 o Foen (c) 4 ¢




Which one of the following is an important
characteristic of the researchers involved in

qualitative study?

UG I W T Tl a e o
W &I i e wEwau favee g 7
(a) Enthusiasm/391e
(b) Non-partisan/9& foraey
(¢) Reflexivity/Sfafsrarea
(d) Transparency/JEf¥id
NTA UGC NETARF June 2021(26-11-2021 Shift-I)




Which one of the following is an important
characteristic of the researchers involved in

qualitative study?
UG, S W 10 Tedaian @ teergd §

B @ ¥ T WAyt At g ¢

(a) Enthustasm/3cdTe

(b) Non-partisan/%& foue

(¢) Reflexivity/Sffsmare

(d) Transparency/REf3fdT

NTA UGC NETAIRF June 2021(26-11-2021 Shift-I)

Ans, (¢): T ¥ R a7 a0 3¢ e a Farene

v ¢-

(1) Sfrrm-mad M & W A @ e
e & A aif & e g e

(2) formg @ g foa R 9 A v A
ki KoK e R R e
F| foemt &1 A O g A

(3) IV s Hed @ yam

(4) TR % S-S & ferw et fefim
A & A 8 g4 o 4 7 75 g Ay

(4) % o foferst 31 v




187.

Given below are two statements: One is
labelled as Assertion (A) and the other is
labelled as Reason (R) :

Hrar 3w fod T €, 1@ e (A) & wUH

forfigd &, A1 TET 30 W (R) & B H-

Assertion (A): Unique case orientation 1s possible
In qualitative research which may
later lead to cross - case analysis.
Design flexibility 1s the hallmark
of qualitative research as 1t 1s open
to situational changes.

Reason (R):

Afawaa (A): ToTE WY # 3 &4
Afufga dva 2, g ar H
F9-9 (F) favemor & Fa g1
Ahes @M TS WY
Tt ofiadq & gad 2|

In the light of the above statements, choose the
correct answer from the options given below :
Ho 5 e A fe

o ¥ Tad 3UYh I & 999 wifad—

(a) Both (A) and (R) are true and (R) is the
correct explanatmn of (A)/(A) 3R (R) CAC |
T & 3 (R), (A) & TEl AT 2

(b) Both (A) and (R) are true and (R) 1s NOT the
correct explanation of (A)/(A) R (R) GiC]
g9 €, dfd (R), (A) F T& AT 78 2

(c) (A) s true, but (R) is false/
(A) T 2, dfda (R) 39H 2|

(d) (A) s false, but (R) is true/
(A)ama:r%' dfd (R) 99 21

NTA UGC NET/JRF June 2021(05-01-2022 Shift-11)
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Given below are two statements

Statement I : If we are interested in the
worldview of members of a certain social
group, a qualitative research strategy that is
sensitive to how participants interpret their
social world may be preferable.

Statement II: If a researcher is interested in a
topic on which little or no research has been
done in the past, quantitative research may be
easy to employ because there is little prior
literature from which to draw leads.

In light of the above statements choose the
most appropriate answer from the options
given below

Hr=r =r sha= feu g §:
wHAT-1 : Ofs 80 hfaaa OmATises O0g o faw
Fieehior O =i Waa €, Usk Ut [ueass ITrEr

TorHfa A= &r "ahdl & S @garirat ot
270 TTATieTeR gRET SRt SHTEAT o Wi ot il
wHAaT- I : A ks vierehal fepdr 0O faasr o
wiar Ear g, 5w v ordfia °§ aga &9 ot &g
sher =€ fasar w1ar 8, a7 ArATHehs JEr oht
= =3T3 T3 8l 9ahdr & a=dites =99
UEet okl Alfgca sgd ohH g foraa 9T e @eh)
(a) Both Statement I and Statement II are
correct/&h9= [ 3T II |41 9a1 21

(b) Both Statement I and Statement II are
incorrect/&F2a= 1 371X II ST TTad 2 |

(c) Statement I is correct but Statement II is
incorrect/hald 1 9&f &, ﬁﬁ hHe I Toad 2 |

(d) Statement 1 1s inco\rrect but Statement\ IT 1s
correct/shd= 1 Tad &, foh=1 =hg= 11 Wl 21

NTA UGC NET/JRF June 2021(26-12-2021 Shift-1)
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Given below are two statements

Statement I : If we are interested inm the
worldview of members of a certain social
group, a qualitative research strategy that is
sensitive to how participants interpret their
social world may be preferable.

Statement II: If a researcher is interested in a
topic on which little or no research has been
done in the past, quantitative research may be
easy to employ because there is little prior
literature from which to draw leads.

In light of the above statements choose the
most appropriate answer from the options
given below

ﬁ%a&mﬁqn‘q%
wHAT-1 : Ofe 89 Shifaua OmArses 99 o fag
gFfEwor § wia Wada €, Uk UHT [uTeHeh IIreT

ToTifa arfarar=r &r "ahdl & St @gariiat =ar
1ot TrmaTtaes gRE =6 ==t & ufar S@adt B
waa- 11 : Afe Shig vierehdl fehdl 0 forasr &
wia wEar &, foa oy o <fia § aga & a1 ahig
oirer & fepar =T ¥, AT WTATOASE  IMEr Rt
foafsa 39T 3 THE= 8 Oahdr & o=difes s@d
UEe! <Rl OTfgcd oga oA & foraa g fiaer T
(a) Both Statement I and Statement II are
correct!aiﬂl?lafr{lla\lﬁﬁipf%"l

(b) Both Statement 1 and ) Stater_{lent I are
incorrect/&ha= [ 371X 11 |41 Tad & |

(c) Statement I 1s correct but Statement II 1s
incorrect/H9= 1 &1 &, ferg v 11 TTerq gl

(d) Statement I 1s incorrect but Statement II 1s
correct/sh9= 1 7Taad @, foh=g 9= 11 |1 21

NTA UGC NET/JRF June 2021(26-12-2021 Shift-1I)

Ans. () : 3991 Td1 ¢ Fiid g TR MY & T
I F T 2
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Given below are two statements:

Hrer 9 == fau o -

Statement I : Scientific research is systematic,
controlled, empirical and critical investigation
of hypothetical propositions.

HAT (1)-AATek IET TRehcaATaNe: UETa ot
ITAHUT gl

Statement Il : Population of research need not
be defined in qualitive and quantitative
researches.

HAT (11)—TuTTeHeh 3T AT Jien o 9uy
hI gitaTiea i il MavaehdT Jal ol

In the light of the above statements, choose the
correct from the optmns&wen below:

HAT H rer fau wo faeear
H T WEl 397 &l 99T Shifsu—
(a) Both Statement | and Statement 1l are true
FU9 [ 3T 11 24 99 21
(b) Both Statement I and Statement II 1s false
FHI9 | 3R 11 AT 3A9F 2 |
(c) Statement I is true but Statement 11 is false
FHI4 [ T &, ofhd H99 [1 379F 21
(d) Statement | is\t‘alse but Statement 11 1s true
FI9 [ 379 &, dfed H%9 11 99 2|
NTA‘UGC NET/JRF June 2021(03-12-2021 Shift-l)'




Given below are two statements:
Hrer 21 waa fau o E-

Statement I : Scientific research is systematic,
controlled, empirical and critical investigation
of hypothetical propositions.

HAT (1)-AATTeh I URiehea-Teder WidTa ohl
IT=AHUT g

Statement Il : Population of research need not
be defined in qualitive and quantitative
researches.

AT (11)—TTUTTeHeh 31T ATATeHeh Il o Wuy
T QI i hi SMAvAHAT Jal &l

In the light of the above statements, choose the
correct from the options given below:

wA & , rer feu o faemear
o | WEl 3T &1 99T RitHu—
(a) Both Statement I and Statement 11 are true

FHA9 1 AR 11 S 99 2 |

(b) Both Statement I and Statement 11 1s false
HI9 [ AR 11 S FHH 2 |

(c) Statement I is true but Statement 11 is false
FU9 | 9 8, dfehd Ha= 11 379 2|

(d) Statement I 1s false but Statement 11 1s true
F99 | 379 2, oifhd %9 11 94 2|

NTA‘UGC NET/JRF June 2021(03-12-2021 Shift—ll
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Ans.(c) L AT WY RE A @
fifid Suas S STEEIoTs a0 81 ToTeT
R WA TE # G IR e & v
2t 21 3 F2 1170 2|




Assertion (A) : Actual settings are the direct
source of data and the researcher is the key
instrument in qualitative research.
AMTHAT (A)-araiass Uiayr stfasl & Jeael
Hie § ot vhumat T v @ W
IYHITT B

Reason (R) : The purpose underlying
qualitative researcher is relatively more
directed at depiction of reality rather than
arriving at context free generahzations.

TR (R)-T[UMTeAS  VIEr @

WTURUAEHINT ek Uga- o aaTd aradiaddl el

ITHT B | eI yeaw wy ¥ fafm &= g

If the light of the above statements, choose the
most appropriate answer from the options
given below:

UG HAT & ATl W, e fow wu fameat

T ¥ Waw U I H TG Rl

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3ﬁT (R) gl
Wi € A (R), (A) N T e 2|

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)/(A) 3R (R) gl
T & A (R), (A) 3 T A T 2

(c) (A)1s true but( )15 false
(A) 59  dfd (R) 307 2

(d) (A) 1s false but (R) 1s true
(A) 39 & dfd (R) T 2|

NTA UGC NETL!RF June 20?\1(03-12-2({21 S‘hil't-:l)l




Assertion (A) : Actual settings are the direct
source of data and the researcher is the key
instrument in qualitative research.

AT (A)-anafaes TRAIT el & Joaer
Ha § 3t viusmat qunars v @ e
IUHITT

Reason (R) : The purpose underlying
qualitative researcher is relatively more
directed at depiction of reality rather than
arriving at context free generalizations.

WA (R)-TUMTHeh  Jier @7 3899
WU dek o o aeitd arataasar sl
eTgHT WU U e yaw wu ¥ fafE &= 3

If the light of the above statements, choose the
most appropriate answer from the options
given below:

ST HAA & ATelte |, o fau wu fasmeat

U § WaH IUGTH I I AT i

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) SﬂT (R) EE
W 3 (R), (A) 3 T A 2

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)/(A) 3R (R) &
T ¢ A (R), (A) 3 T I T 2

(¢) (A) 1s true but (R) 1s false
(A) 59 2 AT (R) 39 2|

(d) (A) 1s false but (R) 1s true
(A) 39 g @ (R) T4 21

NTA UGC VET/JRF June 2021(03-12-2021 Shift-I)

_——— - — e — — —_—— _— —_— e —— —_——_——— - —

Rt e wie H6 A o R o i
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W,m@ﬁa%&mmwmm
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193.
(a)
(b)
(c)

(d)

(e)

Following are the objections against mixed
methods research :

fafyre faftr vt & faweg smufwat fFafafes €
Quantitative and qualitative research are
epistemologically different/ HTATHS o

vTTer ATHEET w0 ¥ R §

Quantitative research is better than the
qualitative research

T[UTTeeh YTTET Sl Gor-T B ATtk INeT aged gl
Aims of quantitative and qualitative research
are different

AT 3T MU JITe & @ed fa §)
Ontological assumptions of quantitative and
qualitative research may be different

UGBTI, 3R TS I st SrHiEEe
e firs 2 et §1

Quantitative and qualitative research are
paradigmatically incompatible
TTATH 3T TR v#u BWUTEEAT TR
Choose the correct answer from_the options
given below:/ =t feu 7w faereat & & WEr 3w
T Fg ITAT :

(a) A, B, C and D only/&a@ A, B, C 3iR D

(b) B, C, D and E only/&a@ B, C, D 3R E

(¢) A, C,Dand E only/&ad A, C, D 3iR E

(d) A, B, D and E only/&ad A, B, D 3R E

NTA UGC NET/JRF June 2021(30-11-2021 Shift-I)




193. Following are the objections against mixed
methods research :

fufsra faftr virer & faeg smufvar fafeafiaa §:
(a) Quantitative and qualitative research are
epistemologically different/ ATATHR: T UMTHR

yiter FAHEEE ' 9 s )

(b) Quantitative research is better than the
qualitative research

U, YNET S o1 § ATATe IITeT agat gl

(¢c) Aims of quantitative and qualitative research
are different

AT 3 U Y & oed e §)
(d) Ontological assumptions of quantitative and
qualitative research may be different

UGS 3 TR I @i SaTHAE
e frs & Tt

(e) Quantitative and qualitative research are
paradlgmatmallv incom tlble
AT 3T TUTTcHR

Choose the correct answer from the tions
given below:/ ==t fau nu faewedi & & I

&1 T I
(a) A, B, Cand D only/&dd A, B, C 3R D
(b) B, C, D and E only/&d@ B, C, D 3R E
(¢) A, C,D and E only/&ad A, C, D 3iR E
(d) A, B, D and E only/&a@ A, B, D 3R E
NTA UGC NET/JRF June 2021(30-11-2021 Shift-)
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Ans.(c)ﬁfmﬁtﬁsﬁu%ﬁw
TS WY FEEmEE &9 9 fim g
UM WY & el i 2

Wiy & gamiEE gduromd

A. WHEEE 9
C. HEES 3R
D. WEIEE 3R T
ﬁﬁﬂ%‘rﬁ%‘l
E. WHAHS 3
a: fadeq (c) 9&1 2|

mﬁmmrﬁaﬁaﬁ%
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Which of the below mentioned approaches fall
under the Quantitative Approach?

frafafgs @ @ &9 ¥ Ifmm  AETEeS
Ny & 3faTa g2

A. Simulation approach/31h{UT iy

B. Projective technique/¥&rdt qania

C. Inferential approach/3TIHT{"eh FAFWITH

D. Depth interview/TTg- QT&Th{
E. Experimental appmachmTéﬂ'ﬁ'IE arfarT

Choose the correct answer from the options

given below:/ ==r feU & faseut W & WET I°W
T TG I
(a) A,Cand E only/?ﬁ?ﬂ A, C R F
(b) B, C and E only/&da@ B, C 3R E
(c) B, C and D only/&ad B, C 3R D
(d) A, B and C only/&a@@ A, B 3R C
NTA UGC NET/JRF June 2021(28-11-2021 Shift-I)




Which of the below mentioned approaches fall
under the Quantitative Approach?

frafafea & @ &= I AT
T o 3faTa &2

A. Simulation approach/3TT&{uT AFHTH

B. Projective technique/&rdt dar-tah

C. Inferential approach/3TTaT{eR 3rfaTTH

D. Depth interview/ITg= AT&TRTT
E. Experimental approach/Sraifites 213y

Choose the correct answer from the options

given below:/ el fau 7= faereut & @ I
T AT hITAT:
(a) A,Cand E only!%h‘a?*f A, C I E
(b) B, C and E only/&a@ B, C 3R E
(¢) B, C and D only/&da B, C 31D
(d) A, B and C only/&a@ A, B 3R C
NTA UGC NET/JRF June 2021(28-11-2021 Shift-T)




Which of the below mentioned approaches fall
under the Quantitative Approach?

frafafea & @ &= I AT
T o 3faTa &2

A. Simulation approach/3TT&{uT AFHTH

B. Projective technique/&rdt dar-tah

C. Inferential approach/3TTaT{eR 3rfaTTH

D. Depth interview/ITg= AT&TRTT
E. Experimental approach/gmaifitas 21

Choose the correct answer from the options

given below:/ el fau 7= faereut & @ I
T AT hITAT:
(a) A,Cand E only/aﬁﬁ A, C 3N E
(b) B, C and E only/&a@ B, C 3R E
(¢) B, C and D only/&da B, C 31D
(d) A,Band C onlyf%?ﬁl A.B 3R C
NTA UGC NET/JRF June 202}(28-1 l-?{lZl Shift—l)l
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Identify the main features of ‘qualitative
research’ from the following:/ 9 e

fargraarsii § & uTeHeR JITET @it 9ESTT il

(A) It is concerned with understanding the

phenomena from the articipant’s
perspective/ag Wfarwr it o5 o "EAar
o+ T | wratera

(B) It assumes that there are social facts with a
single objective reality/S'{-Tﬁ g "HTAT ATAar ‘%‘
IS &ed shad Ush adi-g aard o
EERInE

(C) Researcher become immersed in the
situation, present or past/gmameff adurT =T

UaehTierer giifeerfaat o faur= g smar 81
(D) Researcher is detached from the study to
avoid bias uaﬁ:g o g &

3T BT WY AT | T T AT B

(E) There is greater flexibility in both the
methods and research process/SEH WU

ud gier-wfehar =t ﬁﬁiﬁﬁmﬂg‘i?n Tl

Choose the correct answer from the tions
given below:/=r fou 1o faweat 7 | IT
hHT AT ShiTAT :

(a) (A), (C) and (E) only/&aa (A), (C) 3R (E)
(b) (A), (B) and (C) only/&ad (A), (B) 3T (C)
(¢) (B), (C) and (D) only/&a« (B), (C) 31X (D)
(d) (C), (D) and (E) only/&aa (C), (D) 3R (E)
NTA UGC NET/JRF June 2021(20-11-2021 Shift-11)




. Identify the main features of ‘qualitative
research’ from the following:/ & wwef

fargreareti & & U YT @i UgeT i
(A) It is concerned with understanding the

phenomena  from  the articipant’s
perspective/Ig Wfawrft & uﬁgnz: o gear

& TEre ¥ e g

(B) It assumes that there are social facts with a
single objective reality/?ﬂﬁ g WA ATET &
qmETfie ®ed had Ush aiq—g aoard &
TS B B

(C) Researcher become immersed in the
situation, present or past/gmeeff adurT AT

WaehTieTeh Ufifterfaat o fams gt mar 71

(D) Researcher is detached from the study to
avoid bias/gmraeff uaﬁl%' q g & oo
TS 3T i LTI | T &HT T 8

(E) There is greater flexibility in both the
methods and research process

T Ier-gfERar a1 § erelema= grar &
Choose the eorreet answer from the options
given below:/=r fau Tu fawear & 9 3T
T T HITAT :

(a) (A), (C) and (E) only/a (A), (C) 3R (E)
(b) (A), (B) and (C) only/&ad (A), (B) 3 (C)
(c) (B), (C) and (D) only/&daa (B), (C) 3R (D)
(d) (C), (D) and (E) only/&ae (C), (D) 3R (E)
NTA UGC NET/JRF June 2021(20-11-2021 Shift-11)

T

Ans. (a) : U SIEUH & fa9al sEienEd o

(1) & sfaanft & 9ftieg ¥ g1 & 3aay 9 defed 2|

(2) Vireehdl aauH a1 Yaslicrs aRfefad § e 8 o @)

(3) HH YOI 997 9N Sfshar S § Serarga aeam 2 |

(4) felt wwen an oftfeafa & avfa # sgHeae &
gfgamr w fft axar 21 @' sdum sifusivm:
fawafas g 21

(5) 98 ATHYH T8 Hf=d, @A JAAT HREIHR a7
LAt &t gufier 9T 3menfa g 2

(6) TAMTIHTUT FI HU1gaT HH Bl 2|

37q: faseq (a) 9 21




Identify the qualitative research characteristics
from the following :

frafafiaa & 9 onmenss viter fagearsi =

gAY ShitAT, :

(A) Exploring a problem and developing a
detailed understanding of a central
phenomenon/ fedft o= =1 AT FHR
Fra gftgear &1 farga sraamy fasfaa s

(B) Playing a minor role in review of literature
but justifying the problem/Hif@cd THIET &1 U=
gen gfient famr 9ig gusr $i a6 Ha FarHn

(C) Describing a research problem through a
description of trends/Sgfaai & fagwor & Aream
¥ f&ft ey 9wz & guia)

(D) Collecting numeric data from a large number
of peoples using instruments with present

questions/Jd WSl Tt GrEEl & ST
FT TSI I ° ANl O 9 IS 3ihe Ushiad
h{AT I

(E) Collecting data based on words from a small
number of individuals/&Hd Hwm # =afwdal |
vI=Ei 9 YIRa AThe USHfAd HET

Choose the correct answer from the options

given below

Hrer foar 3 faeseat & 9 9 39T I -

(a) (A), (B), and (C) only/&ad (A), (B) 3 (C)
(b) (A), (B) and (E) only/&had (A), (B) 3K (E)
(c) (B). (C) and (D) only/&aa (B), (C) 3R (D)
(d) (C). (D) and (E) only/sha= (C), (D) 3R (E)
UGC NTA NET JRF June 2020 (5 Nov.) Shift-I




Identify the qualitative research characteristics
from the following :

frafafas O O Tonaass vier fagaared =t

AT Shilea :

(A) Exploring a problem and developing a
detailed understanding of a central
phenomenon/ ot wm=m & gaar 3R
FHara gftgear &1 farga staary fasfaa s

(B) Playing a minor role in review of literature
but justifying the problem/df@a THE &1 TH
e gftasr AT uig IuEr & a6 J@d SaqEn

(C) Describing a research problem through a
description of trends/Sgfval & fagwor & #Aream
¥ fft sy g =1 avia)

(D) Collecting numeric data from a large number
of peoples using instruments with present

questions/9d Uyl arel "rEEl T SAnT
FT FSF G °H AN 9 SIS e UshiAd
FHIATI

(E) Collecting data based on words from a small
number of individuals/&7 T&T H =gfthal o

v=E 9T YT 3Tihe U S
Choose the correct answer from the options
given below

=Hrer fa3r 3 faaeat # 9 =9 39 9= -

(a) (A), (B), and (C) only/&ad (A), (B) 3 (C)
(b) (A), (B) and (E) only/&haa (A), (B) 3 (E)
(c) (B), (C) and (D) only/&ad (B), (C) 3 (D)
(d) (C). (D) and (E) only/&ha= (C), (D) 31X (E)
UGC NTA NET JRF June 2020 (5 Nov.) Shift-I

Ans. (b) : TS Iy & g9 fagmand = € -
— et Tmen &1 gAar @ 3R &EE aftgean & fasga
gug fasfaa & €;

— Wi Tften 1 9ft 8% iafa 319 g1 @ &g
a8 gHET & d% T a9 § gerEs fug g 8;
—> U WY kel W Hfus faft af s @,
3aua OH H = ° Afwdl 9 vedl 9w snuifa

3ffehe uwfag e sia &1




Identify the key features of qualitative
research:

MU, TTHUT o UHE TN @i g

: 0

(A) Actual settings as the source of data/31Tehgl
& Hid o ®9 W andiaes gifierfaar

(B) Control, observe and measure as main
operations/J%&T Aigharsti & wu # A=,
IR Ud 3UTH

(C) Data takes the forms of word or pictures/

3, vregt U forst w1 w0 ad
(D) Formation of hypothesis and testing of

hypothesis./ TRE&AAT FATAT TAT TRhedAAT
T QIreTuT SHTaT

(E) Hypothesis making and hypothesis testing.
raRamear &1 faafor ug

In the light of the above statements, choose the
correct answer from the options given below : ./

&I & '
(a) (A), (C) and (D) only/&ae (A), (C) 3 (D)
(b) (A), (B) and (C) only/&ad (A), (B) 3T (C)
(¢) (B), (C) and (D) only/&ad (B), (C) 3R (D)
(d) (C), (D) and (E) only/&ad (C), (D) 3 (E)
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Identify the key features of qualitative
research:

MUMTedeh AT o Y@ I8N it UgeT
m:

(A) Actual settings as the source of {latafaﬁa-ﬁ:f
& H|Id & ©U W anafad gt

(B) Control, observe and measure as main
operations/J%& Wigharsti & wu W f@swr,

FAATRT U IAT
(C) Data_takes_the forms of word or pictures/

S, vTeat ud fost & w0 i §

(D) Formation of hypothesis and testing of

hypothesis./ TREHEAAT FATAT AT TRheTAT
T QIreTuT SHTAT

(E) Hypothesis making and hypothesis testing,
rafiaeqar #1 faafor ug

In the light of the above statements, choose the

correct answer from the options ]%gen below : ./

HIAT & ]
(a) (A), (C) and (D) only/&dae (A), (C) 3R (D)
(b) (A), (B) and (C) only/&ad (A), (B) 31 (C)
(¢) (B), (C) and (D) only/&ad (B), (C) 3R (D)
(d) (C), (D) and (E) only/&aa (C), (D) 3R (E)
UGC NTA NET JRF June 2020 (4 Nov.) Shift-11

Ans. (a) : TOTHS FTHUE & TG T d-

— ardfas afftafaal el & da & &9 § &M 3w

2l

— el F vkl 9 fadi & ureaw ¥ uad e sar 2

— I8 Y9Il & Ul & g grafad aid 2|

— I8 3ATHS] NUAT GHF Hfegd & ardr 21

= @ Ui, afE, FEaeR S-S & dead §
S S 2

— 77 e A & st viwwal @ A FeE %
Tead # dudd VIYSRE A& & ugdr @, WY &l
AEYIHAl & FEAR, 98 WY &A1 § H-dgd H
T 2|




Identify the features of qualitative research
from the following:

frafafiaa & @ eI Y & TEUN @l
UgeT ahifaul

(A) Researcher becomes immersed in the
situation present or past/INEIghdal AU

ateran farma et frerfaat o e war §)
(B) Researcher is detached from the study to
avoid bias/INeTEdal ETTT W o

T § AR a8 aiig ¥ o= 9kl

(C) It develops context bound generalization/

v gvh araT=iieTur faenfaa &ear §
(D) It is based on logical positivist philosophy/
g dlfcheh FeaaTaTel g9 UT 3Menfia &l
(E) It uses an emergent research design/ 98
U fammavficr s sifieea &1 srgwEnT
T gl
3t it T ferarenit W WA I IR
(a) #dd A, B 3R C
(b) %ad B, C 3R D
(c) Fa@d A, C 3 E
(d) #aa C,D 3R E
UGC NTA NET JRF June 2020 (11 Nov.) Shift-I




. Identify the features of qualitative research

from the following:

mﬁﬁmm%maﬁ
PESIERC AL

(A) Researcher becomes immersed in the
situation present or past

arerar fama &t frerfaat o o w®ar g

(B) Researcher is_detached from the study to
avoid bias/INEThdal eTAT | oA

TEdT § ek 98 Uailg o o<l ekl

(C) It develops context bound generalization/

Hef gk wraT=fentor faefaa war §
(D) It is based on logical positivist philosophy/
IE ATfcheh FeaaraTal g9i= Ut 3menfia gl
(E) It uses an emergent research design/ 9%
Ue faemaviier viter stfiesred &1 arqyamT
AT 2
et foa o fawedt @ & wE 3w G
(a) Fad A, B 3R C
(b) &a= B, C 3 D
(¢) Fad A, C 3R E
(d) #a@ C, D 3R E
UGC NTA NET JRF June 2020 (11 Nov.) Shift-I

Ans. (c) : TT& W9 § AHAIES WY Sy @
YA B 81 39 SR &t vy i wiendf wdder & Ry
F 2 R 3aa: U fogm § ufvm g 31 e
g qon famma @1 feafosi & fawm @ @)1 TeTE Wy
i uw fasrasier Wy sfies & s 6 S 2

g8 Had g S fasfad Fe 2|




Which of the following features of research are
associated with qualitative-inquiring?
i @t faefafigs & @ @E-d  fagear
: J waifera &
1. Actual settings as the direct source of data/
Yeul & Y9 |id & &9 H Jafifs afffaar
2. Data collection under controlled conditions/
frafa sffeafaal & wyea daeq
3. Concern with process rather than simply with
outcomes/Md URUIY & a=g ¥fshar & |
- H T
4. Establishing relationships and explaining the
causes of ghanges/’dﬁ;ﬂ%) &l ISITfEIpH Eh"l‘:l‘g HR
gRadl & HRUT Hl AR HEAT

5. Concerned with what are called participant

perspectives/Tgarfl ufied & &4 § waAr

Choose the correct answer from the options
given below:

(a) 1,3 and4only/3ﬁﬁ 1, 3 3 4
(b) 1,3 and 5 only/&ad 1, 3 3 5
(¢) 2,3 and 4 only/&ae 2, 3 3 4
(d) 3,4 and 5 only/&ad 3, 4 3T 5
UGC NTA NET JRF June 2020 (30 Sept.) Shift-I1




Which of the following features of research are
associated with qualitative-inquiring?
e @t fAfafigas & ¥ @E-d  fagrear
- _a - -ﬁ %:
1. Actual settings as the direct source of data/
Yedl & Soge |id & w9 ° Agfie aRffaar
2. Data collection under controlled conditions/
frdfaa aifeafaal § wea daeq

3. Concern with process rather than simply with

outcomes/AF URUTH & =g Sfshar & 4|

e § @l

4. Establishing relationships and explaining the
causes of changes/@ﬁ;ﬂg H g FE 3R
qRaddi & HROT | AT HAT

5. Concerned with what are called participant

perspectives/TgarTt afile &t &9 § war

Choose the correct answer from the options
given below:

(a) I,3and40nly/aﬁ?'f 1, 3 3 4
(b) 1,3 and 5 only/&ad 1, 3 3 5
(¢) 2,3 and 4 only/&dd 2, 3 3R 4
(d) 3,4 and 5 only/&ad 3, 4 3 5
UGC NTA NET JRF June 2020 (30 Sept.) Shift-11

Ans. (b) : TS WY § TU & 39 0T & MR W
faveiyur 3ia 21 98 3w fafyr &1 &9 9 9 21 39
o7 fe

g‘-
1. el & Y99 &id & &9 § Aufife uftftafia
2. U YR & S Sfhar & ff s § T
3. TR ufed &t e | T




Given below are two statements
Hrer gt we= feu o §:
Statement/@RAA-1: Qualitative research is an

umbrella term to refer to various research
strategies that share certain characteristics/

TUTTeHe: IITET & @Te favearei st |ansn &
arct fafisr v wrdifeat &0 ofges T
UE S gl

Statement/@AT-11: The research-data

collected in qualitative research has been
termed soft i.e. rich in description of people,
places and conversation etc/TUTTHSh

Hafga vier afferel | £
In light of the above statement, choose the

correct answer from the options given below

IULTH HAFT h AR 8 ity e ©

| | I A

(a) Both Statement | and Statement Il are
true/&HI 1 3 11 41 T&1 2|

(b) Both Statement 1 and Statement II are
false/&a 1 3R 11 41 Terd &1

(c) Statement I is correct but Statement II is
false/&H9-1 9 2, g FH9=-11 7Ted 2|

(d) Statement I is incorrect but Statement II is
true/HIA-1 379 2, g F9a-11 T 2|
UGC NTA NET JRF June 2020 (30 Sept.) Shift-1
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Given below are two statements
Hrer 21 s feu o §:
Statement/ehT=-1: Qualitative research is an

umbrella term to refer to various research
strategies that share certain characteristics/

TUTTeHeh I o @1 faviearet s g
areft fafier sy wrfifest @ figes =
U US i

Statement/ehaT-11: The research-data

collected in qualitative research has been
termed soft i.e. rich in description of people,
places and conversation etc/TUTTcHSh

wufga viver stferst ¥ B
In light of the above statement, choose the

correct answer from the options given below
Iudh HAA s A ﬁn:n%rd P o
| wE I gﬁ

(a) Both Statement I and Statement II are
true/&I 1 3R 11 241 Tt &1

(b) Both Statement I and Statement II are
false/&e [ 37 I1 ST TTerd & |

(c) Statement I is correct but Statement II 1is
false/HIH-1 9 2, fohd H=-11 Terd 21

(d) Statement I is incorrect but Statement II is
true/&HYA-1 318 2, fohrq FHIA-11 7 21

UGC NTA NET JRF June 2020 (30 Sept.) Shift-1

=

Ans. (a) : HF-1 3R 11 3 9@ 2| [OTEE WY 5D
@y fasmasi &t gren FE are fafis g wEifaat &
yftgad U A Ug 21 3 favmand e & smmerees
adh 3UP H FANT; T Gifedd IUS H HY
E@ﬂ;mﬁmqﬁg@ammm@ﬁm PEG|
F1 foat 9 vsdl 1 W®Y 4T (FIHA Yedt 1 gan Sad
AR, Tyl 3R amatardt & faaRr g 8), st




. The principal of a school conducts an interview
session of teachers and students with a view to
explore the possibility of their enhanced
participation in school programmes. This
endeavour may be related to which type of
research ?

ferdft feremerar @t wremd feoremera & wrdww ®
forerant @em T & glawm @ gy &
@ WITEAT &1 UaT o & oo 39a W
TN U Aafad &l gl T8 yard
HTHU & Tore wahme ¥ Weifira 87

(a) Evaluation Research/Jedid €M

(b) Fundamental Research/Hifer Eﬂﬂﬂﬂ

(c) Action Research/ [T 3FHuM

(d) Applied Research/aFag HEH



. The principal of a school conducts an interview
session of teachers and students with a view to
explore the possibility of their enhanced
participation in school programmes. This
endeavour may be related to which type of
research ?

ferelt feremerar &t wremd ferener & aTeisAT ©
forereht qem BT & giawm @ Afigyg
@ WG @ AT @ &% T e W
WHTHR TF JAfAT & g 98y
ITH o o yehmaT | Haiftrd 87

(a) Evaluation Researchﬂiﬂaﬂ Wﬂ

(b) Fundamental Research/Aiferd ETTGIHT:I

(¢) Action Research/ AT 31{[@1?[
(d) A

d) Applied Research/=¥agd IFTHYM

Ans : (c) ToraTereh TR
e SHes & SHEH & fou frame seem
S & T S ¢




Empirical research in social sciences is
associated with :

TR fasm= ° yargers e fefafaa o
o froa awag 872

(a) Fictional narratives / Tedi-sh &HIHh

(b) Positivist philosophy / HHRIHS I9H

(c) Historical artifacts / Tfagii¥e Hefrgpfd

(d) Religious practices / €TfHeh ¥

UGC NET/JRF Shift - 2, set-4 19 Dec 2018




Empirical research in social sciences is
associated with :

amTaes faa= o yanmes vy fafafaa o
U feua owg 87
(a) Fictional narratives / Flcd(ddh HYHH
(b) Positivist philosophy / HEHRIEHE 23
(¢) Historical artifacts / Ufd@ifaes FHempfd
(d) Religious practices / ©TfHe 921
UGC NET/JRF Shift - 2, set-4 19 Dec 2018

Ans. (b) : gmIfas fag@ & yargeas WY SIS
299 & TEg 21 YA gois WY & SAHifas vie o
Fad &1 39 vy & d9 YR a9 o-

1. ﬁi‘EI“T(Observation)

2. G894 YTdHsh (Co -Relation)
3. YIS (Experimental)




A researcher prepared a report based on the
interviews of 25 people. Under which category,

this research can be placed?/ Teh 313'9:?11‘-!3?«-1‘?
25 TN o WISl o TR U Ueh Wiaded
FIR AT § 98 gHu f U | fhw av &
ITTHLT oh 3T AT ?

(a) Quantitative/AHETHE (b) Qualitative/TOTTHS
(¢) Historical/afa@ifaes (d) Experimental/‘ﬂﬁ"ﬂ?ﬂﬂi



A researcher prepared a report based on the
interviews of 25 people. Under which category,

this research can be placed?/ Uah JITH-=THehdl
25 SN o WIAThT & 3R UT Ueh Widdad
U AT § 9 gEuE e | | few i &
JTHYTT oh =TI T2

(a) Quantitative/AETHS (b) Qualitative/TUTHS
(¢) Historical/afderfaes (d) Experimentalfﬂ'@l"ﬂ?qﬂi

Ans. (b) : T FHEFEA 25 T & WA & AR
R T S TR & ¢ TR A
FIHEH & I T




Qualitative researchers criticise quantitative
research for its tendency towards—

TS IMeTdhd] ————— @ 3T ATATH®
IIET i g o HIUT SHehT e & &

(a) Emphasis on evidence / 918 9T SR

(b) Focus on empiricism / 3 9daE T SR

(¢) Reductionism / 8Hdl4
(d) Obsession with creativity

gHIHSA & fd 3Tcafers e




Qualitative researchers criticise quantitative
research for its tendency towards—

U IRl ————— & 3T HTATHR
YL Rl UG o ST SHET a1 i &

(a) Emphasis on evidence / H&H T S I

(b) Focus on empiricism / AJHadE 9T 1L

(¢) Reductionism / BHdIR
(d) Obsession with creativity

SIS & Hfd 3cafes e

Ans. (c) : TUTHS IMEHd BHHaR FH 3R AHTHS MY
F ygfa & FROT ITH fAar A E1 OIS SHEH
— TUIHS FTHYE & fha-FHarg qunerd gl T
Hf=d @d |

Safch AATES 3HEUH & 3F=id gEHs SER § Hifud
&1 e aTell I3 i TeFae fohar S 2




HIAAT IET

(Ex-Post Facto Research)



A teacher intends to establish the relationship
between educational status of parents and the
scholastic achievement of pupils. Which of the
following method of research will be considered
appropriate for this study?

T rereR a:ﬁmmaﬁa&ﬁatﬁmﬁmﬁ‘rm
BIEAT @ ITeTh IUTTAT & ater daer Tmd
HEAT ARAT §1 @ AT & fow @ W
rgEy fafir sfea art s

(a) Philosophical method/areifaa fafy

(b) Historical method/ufaeifas fafer
(¢) Expost facto method/&m@raX fafe

(d) Experimental method/Sanmeas fafer
UGC NTA NET JRF June 2020 (4 Nov.) Shift-1




. A teacher intends to establish the relationship
between educational status of parents and the
scholastic achievement of pupils. Which of the
following method of research will be considered
appropriate for this study?

v freres arfirvaent @t Drerfore fafa wem
o @t Ve Iuwterd & ot dey whE
& AR gl 3W AT & fov @ o
rwu faftr 3fera w smoy

(a) Philosophical method/aTsifae fafd

(b) Historical method/tfeafta fafe

(c) Expost facto method/@r fafy

(d) Experimental method/SarMea fafe

UGC NTA NET JRF June 2020 (4 Nov.) Shift-]

Ans.(c):m‘iﬁuaﬂﬂﬁﬁqﬁ{ﬁ?ﬁm
foas 3 Ve fafy o g6t 3 Ve Iuate
% dlq gy WA 1 R 31 SR Wy fE ge
& 9T 3 & 9 A9 T & 9T 3 & M 3
i 21 T 9o & @A 90 @ g a8




. When the independent variable is explored
rather than manipulating, to observe the effect
on dependent variable, the method of research
is called.

T MY =X W Y9E §igd i g i
U TG A FA & Fod 30 AT A g Al
viter 3uam &t W, T e A wE S g
(a) Ex-post facto method/@marm fafyy

(b) Experimental method/Sraifia fafér

c

(c) Case study method/&d 31 fafy
)

(d) Descriptive survey method/faaruTe g
fafey

UGC NTA NET JRF June 2020 (5 Nov.) Shift-1
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. When the independent variable is explored
rather than manipulating, to observe the effect
on dependent variable, the method of research
is called.

W& YA o W AW Wi & g i
T W A AE & & Tod 30 A1 Al § A
vite Iwam &t weht, 3 fafu @ FRT S g
(a) Ex-post facto method/FarH fafé

(b) Experimental method/STafi fafé

(c) Case study method/&9 37 fafy

(d)

d) Descriptive survey method/faatu e
fafe

UGC NTA NET JRF June 2020 (5 Nov.) Shift-]
UGC NTA NET JRF June 2020 (12 Nov.) Shift-I1

Ans. (a) : T Wy fafy § anfde | W Y@ v
& 3 O oA Se-aig W & a9 0
TGN A | FATR W FE g F ved & TvEm
I # T 21 THE AW WA GWied e 3R
qiftrfsas geensti § fHar I 21 28 Ex-Post Facto W9
’ffﬁﬁ%lmﬁmmerthefactmélﬂﬁ
i R Pl [ FT @ T am ¢ T i W @
ey § 92T 9o 3 WA | A S
21 3 R & WY § 90 W 599 &9 9 FW @ 6
e 7 & 2| @6 2 5 S0 oW e & AR
FAR WY R Wy § 9ed I 2




"A university teacher plans to study the
performance of students in implementing specific
projects in terms of their creativity level"

Which method of research will be appropriate
to use in this context?

‘antg Tagfernera freres fernfiiat & gormTeres
TR & e o, fafte yreteew fraiftaa & o
Ich OIS T 21T @A @t AT ST
2!’ 3@ ded o famfafgs ¥ ¥ @=-dt oy
faftr sugs grft?

(a) Historical method/ufeRTia fafer

(b) Descriptive survey method/av e ddeor fafy

(c) Experimental method/S@rmere fafer

(d) Ex post facto
method/@marR fafé

UGC NTA NET JRF June 2020 (30 Sept.) Shift-I1
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"A university teacher plans to study the Ans. (d) : Wi?ﬁ T o ﬁ?ﬁﬁ'{ ﬁ'g ﬁfﬁ é'q'q}Tﬁ g il

performance of students in implementing specific

projects in terms of their creativity level" I8 Wﬁﬁ ﬁﬁﬂ ﬁ g'cfm ﬁ E|'|'£ﬁ Grﬁ-ﬁ %] m el a;
Which method of r rch will b ropriat - : ) *

Which methd of escrch will be spponeins | i 3 sy 1 3 1 5 5 a1 g
“ﬁwmmﬁﬁ%w q g o i T e 81 A e T AR 9
LSS LS ’ fafome d'aa:a,\ﬂ feratfaa ' )

o f - s vy Uftefis Wy A oRafda & s 2|

T’ =@ ded ¥ famfafaa & 9 wa-dr oner
faftr suges grft?

(a) Historical method/tfeRifas fafe

(b) Descriptive survey method/auiAreTe: Taeyur fafer

(¢) Experimental method/Sarma fafer
(d) Ex post facto
method/FMAR fafy

UGC NTA NET JRF June 2020 (30 Sept.) Shift-II




In which of the following methods of research
the independent variable has to be selected
rather than manipulated?

frfafea o ¥ fr srwu™ ugfa o w@da
o ok Tl i g IATa fehart e g7
(a) Descriptive survey method
qUiATHE T Tgfd
(b) Experimental method / YA Tgfd
(¢) Ex post facto method / FIAR Tgfd
(d) Exegetic research / AATHS my

UGC NET/JRF Set-1 Shift - I Dec- 2018




In which of the following methods of research
the independent variable has to be selected
rather than manipulated?

frefofias # ¥ fom e Ugia o e
o & §-UT T ST AT ot e g7
(a) Descriptive survey method
AU T Tgfd
(b) Experimental method / YA, Tgfd
(c) Ex post facto method / FAR T

(d) Exegetic research / oATEATHE Y
UGC NET/JRF Set-1 Shift - I Dec- 2018

Ans, (¢) : FAr gl (Ex. post Facto Method)-
W o ¥ A W d w2 o
TR (o T 6 R T 3 S ol
F T A & F T 21 30 7@ & WY § w2
T T & T VT W @ O 3 21 T
AT AW ¢ A0 T A Tl A (o IR
T T §1 Wi WA 1 I 3 T I 5
e T & IR <A 2 ¢ & (a0 5, yRomm
Y 7 FF VIR & AR & G FH-IH § TG
TR 7 2|




A researcher is intended to examine the after
effects of earthquake on the emotional problems

of individuals. Which type of research is this?
Uk INLehdl, Ykt 3T & ST cAfvhal ahl

e wuEmel W Ugd ard W9l Rl
ST AT ST ¥ TE T YE @ v §7
(a) Aftective Research/91dlHh Yy

(b) Ex-post-facto Research /FTAET Iy
(¢) Longitudinal Research/grdfcta 3mg

(d) Action Research/fshamars wmg



A researcher is intended to examine the after
effects of earthquake on the emotional problems
of individuals. Which type of research is this?

Ueh JiIerahdl, Yehtq 37 & IO eafvhal el
nﬁﬁlaa gwEel W sy arel gwEt @
AT FHAT TTEAT §1 % T Y @ viver 2
(a) Affective Research/4dlcHsh oY
(b) Ex-post-facto Research [FHTATET Iy
(c) Longitudinal Research/dreia vy
(d) Action Research/fshamara g

Ans. (b) : Y & Yfhar # SEATE MY 39 Fed @
@awﬁmmﬁ%ﬁﬁwﬁiﬁ?ﬁ%
Fror frdt oft siyessal 1 39F 90 W HE g9 L0
21 29 99 & 3T=id NYshdl geAT & YHEl H

39 grIfad HRON H1 GaT - T TI9 FHAT 2|

494

%




Choose the correct option from the following.
fraferfiga o & w8t o o EIELY

(a)

(b)

(c)

(d)

Ex post facto research direct control of
independent variables

Experimental research - no direct control of
independent variables

MY - @ 9 W eI

YIS Ig- @ad 94 9 S e a8
Ex post facto research - no direct control of
independent variables

Experimental research - direct control on
Dependent variables

UZAR WY- @ed ol W Segey fmor =€)
YIS Ie- @aa 9l W yee faeaom

Ex post facto as well as experimental research
- direct control of independent variables.

HeAR T YAEs WE § - @ 90 W
yogey fegaom)

Ex post facto research as well as experimental
research - no direct control of independent

variables/ IR U YIS e § — S@ad
T T g FEaer 8|



IIET & RO
(Steps of Research)



Which among the following is a secondary
source of data?

frafefiaa § | i atichel o fgdaes |id 272
(a) Archival data/3f9edl 3tisg

(b) National Sample Survey Organization
data/TETT 92yl GdequT 134 & e

(¢) Oral narratives/Hifias gaid

(d) Participants' diary/Sfawifiat & erad

NTA UGC NET/JRF June 2021(27-12-2021 Shift-I)




- Which among the following is a secondary

source of data?

foferfign ¥ ® & g

& fdtae wia 27

(a) Archival data/ T g
(b) National q%f;n;rle Survey  Organization

data/THTG
(¢) Oral narratives Mg G

A WA F A

i

(d) Participants' diary/ 3wt

pEIERN

NTAUGC NET/JRE June 2021(27-12-2021 Shift)

Ans, (b): ¥ 3 fes i @8 e ¢ o e
T & do o T e B a e
i i Wiﬁﬂrﬁl ﬁ&?ﬂ% 3%3’! a?l
o, G oAt & W9 fo 1 W 21 o T
Sfeeet e e & e fod T fowed A 4 s
3 it & 21




Identify the correct sequence of steps in the
research process as identified by David

Nachmias:/ efag F=ftama gm a'mm ITrer
(A) Research design/Imer 3fTehcq
(B) Data collection/STeT €UF

(C) Formulation of hypothesis
ol

(D) Data analysis and generalisation

et faveraur 3T A=
(E) Problem identification/SHET &t UgaTH

Choose the most appr E riate answer from the
options given below:/

Wl I & A hiIfaU:
(a) (A), (B), (C), (D), (E)
(b) (B), (C), (D), (E), (A)
(c) (C), (D), (E), (A), (B)
(d) (E), (C), (A), (B), (D)
NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




| Identify the correct sequence of steps in the | [Ans. (d): @ﬁ'{ .‘hﬁrqm AL Nﬁil’lﬁ Q’ﬁu MED ai Gl

research process as identified by David
Nachmias:/ =fag T=ftam grr fusma yner &l Vﬁﬁ shH é'

WiEHaT & SO & WEl ShW Sl UEeTT il > GO i TGIH | » TR &1 furo
(A) Research design/9mer 31f¥rahea > WY AHeT » BTCT/HheT TR
(B) Data collection/STeT WUE » 2T W 3ﬁ;: AT

(C) Formulation of hypothesis
Gl

(D) Data analysis and generalisation

21eT faversr siw wmar=fiator
(E) Problem identification/TW&T ahi Ug=T=
Choose the most appr%giate answer from the

options given below:/ e fau Tu fasweui o &
W&l 30T &N TG AU
(@) (A),(B),(C), (D), (E)
(b) (B), (C), (D), (E), (A)
(¢) (C), (D), (E),(A),(B)
(d) (E), (C), (A), (B), (D)
NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




[dentify the sequence of methodological steps in
focus group research:/ Tehfrgd |ag omer o

THAEg T &t T &t U T
(A) Select a sample/ Teh P IGEH| gﬁl

B Pre are the focus group material
(B) 13 o g P S h
(C) Define the problem
U T IR @i
(D) Decide the number of g% needed
ATAI9ch HHg 9&IT &l
(E) Prepare the mechanics of the study
LI YUTTEAT AT i
Choose the correct answer from the options
given below : ﬁ'l!: nq 'S
IO T I AT
(a) (A), (E), (D), (C), (B)(b) (C), (A), (D), (E), (B)

(c) (B), (C), (A), (D), (E)(d) (D), (A), (C), (B), (E)
NTA UGC NET/JRF June 2021(03-11-2021 Shift-I1)




Identify the sequence of methodological steps in
focus group research:/ Hehf-gd WU

TG ST &t GGAT il UgelT =
(A) Select a sample/ T Wfegyl =1

B) Prepare the focus group material
" F%%;H L magm by
(C) Define the problem
U i TRATY il
(D) Decide the number of g% needed
VTS TUE HEAT |
(E) Prepare the mechanics of the study

ITETTT YOI A &l

Choose the correct answer from the options

given below :/=r fau 7u fawedt & & W
I T T AU

(a) (A), (E), (D), (C), (B)(b) (C), (A), (D), (E), (B)
(¢) (B), (C), (A), (D), (E)(d) (D), (A), (C), (B), (E)

NTA UGC NET/JRF June 2021(03-11-2021 Shift-I1)

Ans, (b) : TE157 T8 T 7 Fg 701 3
C) e & v &1

E) 979 JOTelt 4R

(
(
(D) YT TR G F favig )
(
(B) a5 g fawa aq dam &




List I/3=1-1 List 11I/3=t-11
Research Steps Characteristics
IIET oK =I¥OT
(A) |Research (I) |Appropriateness of
problem technique and their
definition/ application/
T HEHEAT deh-lehl Sl STFgSFadr 371
I gfsreT 3h IATHANET
(B) Formulation (1I) |Development of a
research conceptual framework
othesis/ which 1s 1n accord with
3%\‘]; hypothesis of
;I,ﬁa;;;m research/TaF 3790 @A
=1 fa=sra St 9Ty =6t
SThog-T & 37459 2 |
(CO) |Design of|(IIl) | Defining the variable to
researc ] be related 1n )
FT 9T=9 unambiguous terms/<40
Hl gEas veaiaat |
gf¥area ssLAarn
(D) |Data (IV)|Academic and social
Analysis/ value of the research
= question to be
weighe ueq 6
THaffdsh 3T gEfsh
o ohi drerAr|

Choose the correct answer from the options
given below:

fa=r 7o faear ¥ T 9 39Y &1 999 ahiifsa:
(a) (A)-(I1I), (B)-(I1V), (O)-(I1), (D)-(II)
(b) (A)-(IV), (B)-(11I), (C)-(1I), (ID)- (I)
(c) (A)-(1), (B)-(1I), (O)-(I1I), (D)- (1)
(d) (A)-I1I), (B)-(1), (C)-(1V), (D)- (111)
NTA UGC NET/JRF June 2021(03-12-2021 Shift-I)




Ans. (b) T=h-1

q=i-11

ITET & =T

(A) sy gm=n FH|AV) [y g1 F  FAFEES
qftsmst dR gmfSs gea &
GG
B)[ea  whew|(11) [40 & geaw visamEen
& GAHT § gRtafea &
O)|smg w asg (1) [t 3@umronm @ &

foem st Wy &

(D)

a favers

(I)

Wiehed T & 6T 2|
dbil @l SugEdl
AR 3Ah AN

List I/33=T-1 List 1I/AT-11
Research Steps Characteristics
o =vuT
(A) |Research (I) |Appropriateness of
problem technique and their
definition/ appllcatlon/
I HEEAT FH ITFFAAT AR
1 aftsrsT 39 STTHATT
(B) Formulatlon (1) |Development of a
research conceptual framework
othesis/ which 1s in accord with
Q%rg hypothesis of
5T qI-,ﬁa.,—(u—I research/Ush 3TaYOT aid
=1 fa=sra S sy =i
UehedAT o 3AGET 2 |
(CO) |Design of|(1Il) | Defining the variable to
research/STe be related in )
T 99 unambiguous terms/=
&I g veEgal H
giXarSa SsTArn|
(D) |Data (IV)|Academic and social
Analysis/ value of the research
= question to be
weighe 99 &6
Thrafdsh 39 gafsish
oA Hi dleAT |

Choose the correct answer from the options

given below:

r=r o= 1o faear # O 9 39 &1 999 Shifeig:
(a) (A)-(IID), (B)-(IV), (C)-(1), (D)-(1I)
(b) (A)-(1V), (B)-(11I), (C)-(1I), (ID)- (D)
(c) (A)-(I), (B)-(II), (O)-(11I), (D)- (I)
(d) (A)-(1D), (B)-(I), (O)-(1V), (D)- (11I)
NTA UGC NET/JRF June 2021(03-12-2021 Shift-1)




The objective of exploring the existing
literature should be to identify which of the

following issues?/ fagmara arfge =1 aar [GRIIE
T 329y faferiiga § ¥ faey fawat =t ug==
HIAT BIaT 872
A. What is already known about this area?
TH &7 o 91 W UdHATT o 872

B. What concepts and theories are relevant to
this area?/29 & H &I - H WehouaT TaT
fagia wrefite 872

C. How to get funding for the research?/9Trer
& feru faer araor form wame feRar wmar?

D. What are the significant controversies in

this area?/39 &1 H Wgwayqul faarg ==m &7

E. Are there any inconsistencies in the

findings of this area?/aaT 39 & o f=hal
W ST Shig 3TEITa &7
Choose the correct answer from the options
given below:

e feu 7o faseat o 9 W& 3T &1 99 Sifau:
(a) A, B, C and D only/&ad A, B, C 3iR D

(b) A, B, C and E only/&dd A, B, C 3iIR E

(¢) A, B, D and E only/&ad A, B, D 3iRE

(d) B, C, D and E only/&ad B, C, D 3iR E

NTA UGC NET/JRF June 2021(01-12-2021 Shift-II)




The objective of exploring the existing
literature should be to identify which of the

following issues?/ fagma arfgexr &t war I
T Ievd faafefiga o 9 faea fawat &t wg=m=
HIAT BIAT 872
A. What is already known about this area?
IH &F o 9 | YdATT T 82

B. What concepts and theories are relevant to
this area?/2@ & H &hiT - df Wehoaar aaT
fagia yrfites €72

C. How to get funding for the research?/9Ter
o feru faer uraor feem wene femam wmar?

D. What are the significant controversies in

this area?/39 & ¥ Wgvaqul faarg & §7?

E. Are there any inconsistencies in the

findings of this area?/aaT 30 &= o fyemual
o T RIS EIa 82
Choose the correct answer from the options
given below:

Frar feu 7o fawear # T WE IO &1 99T Ffau:
(a) A, B, Cand D only/&ad A, B, C 3iIRD
(b) A, B, C and E only/&dd A, B, C 3iRE
(c) A, B, D and E only/&dd A, B, D 3iR E
(d) B, C, D and E only/&ad@ B, C, D 3iR E
NTA UGC NET/JRF June 2021(01-12-2021 Shift-I1)

Ans.(c):ﬁﬁﬂﬁm‘%ﬂﬂwmﬂﬁﬁﬁﬁr
fawai it Tg== AT g 2

(A) 39 &9 & o) # qd 31d 1 272

(B) 39 &7 # &I9-§ Gaheun aur fagia sfis 21

(D) 39 &7 # wgwayvl faarg @@ 272

(E) 1 39 &7 & faspul § &g srnfaar 21




. Given below are two statements
fe g wHaarfaumu g :

Statement I : Questionnaires are filled in by the
participants themselves.

-1 YyATaferar SguTirEt g W Wi S )

Statement II : Interview schedule is filled in by
the interviewer/researcher

g4a-11 : Widh ?ﬂﬂﬂdl HTdATehT
Al /gerehdat grT Wit FTet

In light of the above statements, choose the
most appropriate answer from the options

given below/3Udwh &l & s o, e faw

T foreet 3 ¥ TER UG TN T A BT

(a) Both statement I and Statement II are
correct/FIA 1 3 11 I T2t 21

(b) Both Statement I and_ Statement II are
incorrect/®4 1 3 [1 21 Teld 21

(c) Statement I is correct but Statement II 1s
incorrect/Ha | TE 2, feh=g e 11 et gl

(d) Statement I is incorrect but Statement II is
correct/FIA [ T €, mwﬁ [1 9&T 21

NTA UGC NET/JRF June 2021(30-11-2021 Shift-1)



. Given below are two statements
Hrer 9t wuw faw o

Statement I : Questionnaires are filled in by the
participants themselves.

HIF-1; YIATafTar WEHira g wWE 9wl St g
Statement II : Interview schedule is filled in by
the interviewer/researcher

HAF-11  : WHTEHRR T AR
Sl /ITeraRal gRT 9 ATt §1

In light of the above statements, choose the
most appropriate answer from the options
given below/?.'ﬂﬂ?ﬁ HIAT & IS W, e fau

T frehedt # A TR UG I B I A

(a) Both statement I and Statement II are
correct/FHI 1 3 11 21 T&T 21

(b) Both Statement I and_Statement II are
incorrect/® 1 37X 11 ST Tad 21

(c) Statement I 1s correct but Statement II is
incorrect/H4 | TEl 2, foreg e 11 TeIa gl

(d) Statement I is incorrect but Statement II is
correct/&HIA | Ted €, ferd g 158 21

NTA UGC NET/JRF June 2021(30-11-2021 Shift-I)

Ans. (a) : TSR RO G d W A 2 o
R e SR e 20 o S 81 59

Wﬁﬂ?lﬂ%llﬁﬁ%lﬂﬂﬁm()ﬂﬁg




Debriefing involves several activities followin :
the collection of data :/

HUBUT o IS he (ShAThATT TN 8 :

A. Explanation of any description
ferdt feravor =t sareEaT

B. Explaining the superiority of the present
research
FAATT JIET Sl SBAT il SATEAT SHIAT

C. Description of the purpose of the study
3ITETTT oh GATST AT

D. Post-study follow-up medical or
psvcholo%;:al attention

IWia Igadt fafecda ar
HATOAT T &arT
E. Publlcatilon of the finding of the research in
urna
:r#'u & Tehd &1 S W gaRtoTT
Choose the correct answer from the options
given below :

Fror faw T faredt § W wE S o= -

(a) A,BandC onlyﬁ-ﬁﬁ A, B, C

(b) A,Cand D only/‘av_dﬁ A, C,D

(c) B,Cand D onlyﬁr"ﬁiﬁ B,C.D

(d) C.,Dand E onlyfgh_clﬂ DB

NTA UGC NET/JRF June 2021(29-11-2021 Shift-11)



Debriefing involves several activities fgllowilg
the collection of data :/ 0 3tfehel

HURUT & &1 The (ShaATheTT I & :
A. Explanation of any description

ferdt fearavor &t =

B. Explaining the superiority of the present
research

TAHTT YL i ABAT Sl SHTEAT AT
C. Description of the purpose of the study
ITETAA & YA &

D. Post-study follow-up medical or
psychological attention
IFTT & I Al fafereda ar

HATAAT e &

E. Publication of the finding of the research in
a journal

& frend &1 S o GaRo

Choose the correct answer from the options
given below :

et fou e faweal § ¥ W& 39 9 ¢

(a) A,Band C only/aa_cla A, B, C

(b) A,Cand D onlym?{ A C,D

(¢) B, C and D only/&aa@ B, C, D

(d) C, D and E only/&a@ C, D, E

NTA UGC NET/JRF June 2021(29-11-2021 Shift-11)

Ans.(h):éﬁﬁﬁkﬂﬁﬂh‘@%ﬁm%maﬁ‘
fepareharg wifier @, St foeraa 2-

(i) fodt faawor i aren

(i) 3TE999 & A9 H quid

(ifi) 379 & IWA oiadi fafeedm a1 wAEwE

el |




Identify the CORRECT sequence of empirical
steps in the linear model of the research
process

e wizRan & YRges giame o sngarfas swon
& W& ATHT Hl U iU

(a) Sampling — theory — interpretation —
collection — validation — hypotheses/Sfd=a
— fagid — fAdea — dFIRu — YA
— Hldhcl-l

(b) Theory — hypotheses — sampling —
collection —> interpretation —

validation/fdgid — ¥&dhedqdr — Sfd9dd —
IR — fd=a — smofis

(¢) Validation — theory — hypotheses
collection — sampling

interpretation/SH0fidT -  fugid
(d) Collection — sampling — hypotheses
theory —> interpretation
operationalization/§%@0T  —  ¥fdgad
SFhedH  —  fagid - fadeA
HiFAHSHIHT (TRIAAZITH)

NTA UGC NET/JRF June 2021(28-11-2021 Shift-I)
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Identify the CORRECT sequence of empirical
steps in the linear model of the research
process

virer gfshar & g gfaa # sawatfass =won
o WET THT T g HITAU:

(a) Sampling — theory — interpretation —
collection — validation — hypotheses/Sfadaa=

— fagia — fAdea — dmeu — ymwfiE

— Hldhcq-dl
(b) Theory — hypotheses — sampling —
collection — interpretation —

validation/f9sid — Y&aHcqar — Sfdg9dad —
gl — fad=a — smmfieor

(¢) Validation — theory —  hypotheses —
collection sampling —
1nterpretat10n/El1=lTﬂﬂT:hTﬂT — fag@a -
qFhHegdl — HAZUT — Hfdadqd — fAd=a

(d) Collection — sampling — hypotheses —
theory — interpretation —
operationalization/d3@0T — ¥fdg9ad —

gEFHeddl —
Hfhar TSI (FATRIHATZSIA)

NTA UGC NET/JRF June 2021(28-11-2021 Shift-I)

DI RO T A, TR s |

Ans.(h) l’ﬁﬂm%mﬁﬁﬂﬂﬁmw
W W A g g-TEe, Y-
SR PSR | 3 e (o) 4




Assertion A : A research question should have
some connection with an existing theory or
research.

IMTHAT (A) : I Woa ahr ferdl fammme
fagT= 7gar viy ¥ & Haw g1 Srfgul
Reason R : The research question formulated
should be either too broad or too narrow.

HIUT (R) : GASg INET YT ol 3Tediereh faga
ITUAT ATk HahiUul 2T ATRU

In light of the above statements, choose the
correct answer from the option given below.

IUUTh HUAT o ATelleh W, Hror fau faameat o
T WEl ITT T TGS I -
(a) A 1s false but R is true
(A)37HE 2, dfeh (R) 99 21
(b) A i1s true but R 1s false
(A) 9 2, dfepd (R) 379 2|

(c) Both A and B are true and R is the correct

=

explanation of A/(A) 3R (R) aH1 ¥ & 3R
(R), (A) & T& =AW= 2 |

(d) Both A and R are true but R 1s NOT the
correct explanation of A/(A) 3 (R) 4T 9
g 9% (R), (A) FT T ARAT 7 2|

NTA UGC NET/JRF June 2021(25-11-2021 Shift-I)




Assertion A : A research question should have
some connection with an existing theory or
research.

AfTRaT (A) : T yya a1 ferdt faemm
fagr= areran vy ¥ H© e g1 =)
Reason R : The research question formulated
should be either too broad or too narrow.

@A (R) : GAEg I W9 @l T foga
3TTAT TR kiU ZHET TfEU

In light of the above statements, choose the
correct answer from the (g)tion given below.

I HAAT o AR |, Hia fou fawmeai o

¥ T 3T & AT I

(a) A is false but R is true
(A)379 2, dfehd (R) 9T 2|

(b) A is true but R 1s false
(A) §F 2, A (R) 379 2|

(c) Both A and B are true and R is the correct
explanation of A/(A) R (R) THT 9 & 3R
(R), (A) F T& =ame 2|

(d) Both A and R are true but R i1s NOT the
correct explanation of A/(A) FR (R) HE 9
& T (R), (A) F1 TE R T 2|

NTA UGC NET/JRF June 2021(25-11-2021 Shift-I)

Ans. (b) : 3MTAHRAT (A) : ‘Y ¥v9 & fHdr faamm
fagra s1gar iy § 2 99y 1 9feT T g afed
39 el # e T b ‘gEEs WY 4 & 3TcfYes
foega stoar deivf gmr =few) s 21




. Which of the following are advantages of
observation as a tool of data collection?

T WUg & IUHRWUT o ®T W YT &H
fafeafaa 7 9 -9 & 872

A.

B.

Observation takes place only in  natural
settings/S&I0T shaol WidHfash aRaeT & gar 21

Observation methods demand the active
participation of subjects in the

programme/S&70T fafer=i & fi?l'{ SHdshd H hdl
&t gieha arfierd &t stavasar g 21

C. Observations are known for direcmess/ﬁ&i‘ﬂ

Segeral o fore 59 S €1
Artificiality can be minimised in

observational studies/S&UT HoI&h a4l H
FiFAmar & =FgAaq fHar 51 G 2

. Recording devices can be used iIn

observational studies for accuracy

FHFIHT H Flhar & foau g =3 aren
gfeat (fearzdl) &1 yamT f&ar s gwar 21

Choose the correct answer from the options
given below:

e fau wu faswcar o 9 9 39T & 99 St
(a) A, B and C only/&ad A, B 3R C
(b) A, B and E only/&ad A, B 3R E
(¢) B, C and D only/&aa B, C 3R D
(d) C, D and Eonly/’aﬁﬂ C,D IR E

NTA UGC NET/JRF June 2021(24-11-2021 Shift-1)



Which of the following are advantages of
observation as a tool of data collection?

T HUg o SURUT o ®T W UYHUT &
frafafaa ¥ 9 S=a-9 &y 22

A.

B.

Observation takes place only in natural
settings/S&IUT hadl Wipfas UfRkder & 2ar 2|

Observation methods demand the active
participation of subjects in the

programme/3&70T fafedi & fow srefsa § wat
F Gfera arfierd #i smavasdr gt 2|

Observations are known for directness/ﬁ&iUT

Segerar & forg s s %‘ |

Artificiality can minimised in
observational studlesfﬁi'ﬂ'UT ol 3Tl H
FHfEAgar F gAau fHar 51 g 21

. Recording devices can be used in

observational studies for accuracy

FFTEl # Gdhar & fau e 3 aeh
gfehal (fEarsdi) &1 40T fhar o1 gehar 2

Choose the correct answer from the options
given below:

e feu 7o fawcat o W WE ST &1 99 @i
(a) A, B and C only/&aa A, B 3 C
(b) A, B and E only/&ad A, B 3K E
(c) B,Cand D only/a'ﬁ?'f B, C 3R D
(d) C,Dand E only/?ﬁﬁ C,D 3R E
NTA UGC NET/JRF June 2021(24-11-2021 Shift-I)

Ans. (d) : 30 §98 & 39 & &Y § YHUT & W

fraq 2:-

(i) Y& YoIed & fou foham s 21

(ii) ﬁwgaaamﬁﬁ;ﬁwaﬁwmm
ol 2|

(iii) Ueved HFEE § Gdaa & fau faE &
areft gfeRdl &1 FanT X T 2|
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